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SEQ 0001

IDENTIF ICATION
PRODUCT NAME:  CNDRDAO DRV11J DIAG TST PRT2
PRODUCT CODE:  AC=T445A=MC
PRODUCT DATE:  DECEMBER,1982
MAINTAINER:  DIAGNOSTICS SERVICES/ISS
AUTHOR : W.HEAVEY

COPYRIGHT (C) 1982,1983 ,
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASS.

THE INFORMATION IN THIS DOCUMENT IS SUBJECT TO CHANGE WITHOUT NOTICE AND
SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT CORPORATION.
DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY FOR ANY ERRORS
THAT MAY APPEAR IN THIS DOCUMENT.

THE SOFTWARE DESCRIBED IN THIS DOCUMENT IS FURNISHED UNDER A LICENSE AND
MAY ONLY BE USED OR COPIED IN ACCORDANCE WITH TERMS OF SUCH LICENSE.

DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY FOR THE USE OR
RELIABILITY OF ITS SOFTWARE ON EQUIPMENT THAT IS NOT SUPPLIED BY DIGITAL.
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000001
160000

001100

000011
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000200
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177774
177772

177570
177570

170000
000000
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00000

00000

000004
000005
000006

c 1
MACY11 30(1046) 15-DEC-82 15:26 PAGE 57

:GPA  .HEADER “/CNDRDA DRV11J DIAG TST PRT2 /,1982,*/BILL HEAVEY/
“TITLE CNDRDA DRVI1J DIAG TST PRT2

:«COPYRIGHT (C) 1982

:«DIGITAL EQUIPMENT onp

«nAvNAno MASS. 017

'PROGRAH BY BILL HEAVEY

'THIS PROGRAM WAS ASSEMBLED SING THE PDP=11 MAINDEC SYSMAC
tPACKAGE (MAINDEC=11-DZQAC=C3), JAN 19, 1977.

iru-

$SWR=160000 :HALT ON ERROR. LOOP ON TEST, INHIBIT ERROR TYPOUT
;+ EDITED 10 PERMIT DRV'S TO RUN ON FALCON (KKT11). : :GPA

G. PASQUANTONIO, JULY ‘81 : :GPA

tsuni1escoo

.SBTTL OPERATIONAL SWITCH SETTINGS

E: SWITCH _u

e 15 HALT ON ERROR

e LOOP ON TEST

v 13 INHIBIT ERROR TYPEOUTS

e INHIBIT ITERATIONS

;e LOOP ON ERROR

QO

LOOP ON TEST IN SWR<7:0>
SBTTL BASIC DEFINITIONS

:'lNlTlAhsgDREss OF THE STACK POINTER w#*+ 1100 #w+

STACK=
.EQUIV EMT,ERROR ::BASIC DEFINITION OF ERROR CALL
.EQUIV 1OT,SCOPE ::BASIC DEFINITION OF SCOPE CALL
;*MISCELLANEOUS DEF INITIONS

HT= 11 ;:CODE FOR HOR!ZONTAL TAB

LF= 12 ::CODE FOR LINE FEED

CR= 15 +:CODE FOR CARRIAGE RETURN

CRLF= 200 ::CODE FOR CARRIAGE RETURN-LINE FEED

PS= 177776 : :PROCESSOR STATUS WORD

.EQUIV PS,PSW

STKLMT= 172774 :3STACK LIMIT REGISTER

PIRG= 177772 : ;PROGRAM INTERRUPT REQUEST REGISTER

DSWR= 177570 ; HARDWARE SWITCH REGISTER

DDISP= 177570 HARDWARE DISPLAY REGISTER

setevs  THE FOLLOWING 00* START ADDRESS FOR SBC 11/21 IS ADDED
0pTST=_ 170000
RBGENERA§°PURPOSE REGISYER DEF!NIT!ONS

RAL REGISTER
R1= t1 ..GENERAL REGISTER
R§= 4 s sGENERAL REGISTER
R3= i ::GENERAL REGISTER
R4= 24 s sGENERAL REGISTER
R5= 15 : ;GENERAL REGISTER
R6= 16 s sGENERAL REGISTER

SEQ@ 0002

— v ————— ——
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|CNDRDA.P11  10-DEC-82 14:4 BASIC DEFINITIONS SEQ 0003
| (1 000007 R7= X7 ; ;GENERAL REGISTER
(N 000006 SP= 16 :3STACK POINTER
{}; 000007 PC= 14 : :PROGRAM COUNTER
(1) :«PRIORITY LEVEL oerxuxtxous
(N 000000 PRO= 0 PRIORITY LEVEL 0
(1) 000040 PR1= 40 ..PRIOthY LEVEL 1
(1 000100 PR2= 100 ::PRIORITY LEVEL ;
(1) 000140 PR3= 140 :iPRIORITY LEVEL
(1) 000200 PR4= 200 :PRIORITY LEVEL 4
(1 000240 PRS= 40 ::PRIORITY LEVEL §
(1) 000300 PRé= 00 T:PRIORITY LEVEL 6
g}; 000340 PR7= 340 ::PRIORITY LEVEL 7
(D ;*"'SWITCH REGISTER' SWITCH DEFINITIONS
%)) 100000 $W15= 100000
(1) 040000 Swid= 40000
(N 020000 SWi3= 20000
(1) 010000 SWi2= 10000
(1) 004000 sWil= 4000
(1 002000 SWi0= 2000
(1) 001000 sW09= 1000
(1) 000400 SW08= 400
(1) 000200 sW07= 200
(1) 000100 SWoé= 100
(1 000040 SW0S= &
1 000020 SW04= 20
(1 000010 sw03= 10
%h) 000004 SW02= &
1 000002 swol= 2
(1) 000001 SW00= 1
(1) LEQUIV SW09,SW9
(1 .EQUIV SW08.Sw8
(1) .EQUIV SW07.SW?
(1 .EQUIV SWO06.SW6
(1) .EQUIV SWOS.SWS
(N .EQUIV SW04&.SWé
(1) .EQUIV SW03,SW3
(1) .EQUIV SW02.SW2
(1) LEQUIV SWO1,SW1
g}; LEQUIV SWO00,SWO0
(1) ;*DATA BIT DEFINITIONS (BITOO TO BIT15)
(1) 100000 BIT15= 100000
(1) 040000 31114- 40000
(1 020000 BIT13= 20000
(1 010000 BIT12= 10000
(1) 004000 BIT11= 4000
(1) 002000 BIT10= 2000
(1) 001000 BIT09= 1000
(1 000400 BITO8= 400
(1) 000200 BITO7= 200
(1) 0001 BITO6= 100
(1N 000040 BITOS= 40
(1) 000020 BITO04= 20
(1) 000010 BITO3= 10
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CNDRDA.P11  10-DEC=-82 14:44 BASIC DEFINITIONS SEQ 0004
1) 000004 BITO2= &
(1) 000002 BITO1= 2
(1) 000001 BITO0= 1
(1 .EQUIV BIT09,BIT9
(1) .EQUIV BIT08.B81T8
(" .EQulv BIT07.BIT7
N .EQuUlV exrog.axrs
(N .EQUIv BITO0S.BITS
%) .EQUIV BIT04.BIT4
1 .EQUIV BIT03.8IT3
(N .EQUIV BIT02.BIT2
(1 EQUIV BITO1.BIT1
:}; EQUIV BIT00.BITO
(N :«BASIC ''CPU'* TRAP VECTOR ADDRESSES
(1) 000004 ERRVEC= & ::TIME OUT AND OTHER ERRORS
(1) 000010 RESVEC= 10 +SRESERVED AND ILLEGAL INSTRUCTIONS
1 000014 TBITVEC=14 SUTUBIT |
(1) 000014 TRTVEC= 14 ::TRACE TRAP
(1) 000014 BPTVEC= 14 : ;BREAKPOINT TRAP (BPT)
(1) 000020 I0TVEC= 20 : $INPUT/OUTPUT TRAP (IOT) %+SCOPEw+
(1 000024 PWRVEC= 24 : SPOWER FAIL
(1 000030 EMTVEC= 30 :;EMULATOR TRAP (EMT) **ERRORw+
(1) 000034 TRAPVEC= ::TTRAP'' TRAP
1N 000060 TKVEC= 60 ::TTY KEYBOARD VECTOR
1 000064 TPVEC= 64 *:TTY PRINTER VECTOR
(1) ;eessx  THE FOLLOWING BREAK VECTOR AND LINE CLOCK VECTOR ARE INCLUDED
1 000100 LKVEC= 108 ;:LINE CLOCK VECTOR
(1 000140 BRKVEC= 14 ::BREAK VECTOR
(1N 000240 PIRQVEC=240 : :PROGRAM INTERRUPT REQUEST VECTOR
5694 174160 ABASE= 174160 *BASE ADDRESS
5695 ADEVM= 1 *DEFAULT TO ONE DRV11J
5696 100000 RDY=  BIT1S
5697 000400 DIR=  BITS
gggg 001000 IE= BITY
5700 :CHIP COMMAND SUMMARY
5701 000020 CIRMR= go :CLEAR IRR AND IMR
g;gg 000030 CSIRMR= 30 :CLEAR SINGLE IRR AND IMR BIT
5704 00004 CIMR= 40 :CLEAR IMR .
5705 000050 CSIMR= S0 :CLEAR SINGLE IMR BIT |
5706 000060 SIMR= 60 :SET ALL IMR BITS
g;gg 000070 SSIMR= 70 :SET SINGLE IMR BITS
5709 000100 CIRR= 100 :CLEAR IRR
5710 000110 CSIRR= 110 :CLEAR SINGLE IRR BITS
5711 000120 SIRR= 1;0 :SET ALL IRR BITS
g;}% 0001 SSIRR= 130 :SET SINGLE IRR BITS
5714 000140 CHPISR= 140 :CLEAR HIGHEST PRIORITY ISR BIT
5715 000160 CISR= 160 SCLEAR ISR
g;}g 000170 CSISR= 170 :CLEAR SINGLE ISR BIT
5718 000200 LMDO4= 200 :LOAD MODE BITS MO-M4
5719 000240 LMD57= 240 :LOAD MODE BITS M5-M7
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BASIC DEFINITION
HODEOBIT PRESELECTION

Lé
50
56

; CHIP UR;TE PRESELECTION
UTO CLEAR REG. FOR WRITING

=z P ECT A
PIMR= %20 PRESELECT IMR REG. FOR WRITING
= :PRESELECT VECTOR MEMORY ADDRESS

nuuno

.SBTTL TRAP CATCHER

.=0
;*ALL UNUSED LOCATIONS FROM 4 = 776 CONTAIN A ‘.42, HALT"
:*SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
*LOCATION19‘C0N7AINS 0O TO CATCH IMPROPERLY LOADED VECTORS

DISPREG: .WORD 0 s sSOFTWARE DISPLAY REGISTER
SWREG: .WORD 0 s :SOFTWARE SWITCH REGISTER
.SBTTL STARTING ADDRESS(ES)
JH?OO @#START ;;JUMP TO STARTING ADDRESS OF PROGRAM
o=
.WORD  104,200,2 sIF *B EVENT® ON Q BUS IS CONNECTED
s IGNORE IT'S INTERRUPT = JUST DO A RTI

SEQ 0005
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CNDRDA.P11 10-DEC~82 14:44 ACT11 HOOKS SEQ 0006
5{?3 .SBTTL ACT11 HOOKS
(2) R AR R R RN R R AR RN R AR AR R AR R AR RO RO,
(1) NOOKS REQUIRED BY ACT11
1) 000106 $SVPC=. :SAVE: PC
(1) 000046 =46 :
2}; 000046 8685;5 SEggAD :31)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
(1) 000052 000000 .WORD 0 ::2)SET LOC.52 TO ZERO
(1) 000106 .=$SVPC ;s RESTORE PC
5738 002000 .=2000
5739 sLONGEST TEST TIME
5740 :1ST PASS RUN TIME
5741 sADDITIONAL RUN TIME
5742 .SBTTL APT PARAMETER BLOCK

(2) R AR RN TR TR R R R AR R AR R RN T AR RN RN RRRERARE

(1) SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT

(2) TR RPN R A R NP RN TR R AN R RN R AR R AR RN RR RN RR AR RRS

1) 002000 SX=. ..SAVE CURRENT LOCATION

(1) 000024 =24 :SET POWER FAIL TO POINT TO START OF PROGRAM

(1) 000024 000200 200 ..FOR APT START UP

(1) 000044 .=b4 :;POINT TO APT INDIRECT ADDRESS PNTR.

(1) 000044 002000 $APTHDR ;;POINT TO APT HEADER BLOCK

(1) 002000 «=.8X  ;;RESET LOCATION COUNTER

(2) R R R AR R R TR TR AR R R AR RN N AR AR A AR AR R RA RN RRE

(N SEYUP APT PARAMETER BLOCK AS DEFINED IN THE APT=PDP11 DIAGNOSTIC

g}; s INTERFACE SPEC.

(1) 002000 SAPTHD :

(1) 002000 000000 $HIBTS: .WORD O ::TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

(1) 002002 002170 SMBADR: .WORD  SMAIL  ;;ADDRESS OF APT MAILBOX (BITS 0-15)

(1) 002004 000014 $TSTM: .WORD 12. ;RUN TIM OF LONGEST TEST

(1) 002006 000036 $PASTM: .WCRD  30. ::RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
g}; 002010 000036 SUNITM: .WORD  30. ::ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT

002012 000031 -WORD SETEND-‘HAIL/Z s ;LENGTH MAILBOX-ETABLE (WORDS)
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. MACY11 30€1046) 1
COMMON TAG

'*- .SBTTL COMMON TAGS

A AA A AR AR A A A AR AR AR ARl ARl ARl ddd Al d Al ddddlldlld

TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
IN THE PROGRAM.

;*THIS
s *USED

$CMTAG:

$STSTNM:
$ERFLG:
S$ICNT:
$SLPADR:
$LPERR:
SERTTL:
SITEMB:
SERMAX :
SERRPC:
$GDADR:
$BDADR:
$GDDAT:
$BDDAT:

$AUTOB:
$INTAG:

SWR: °
DISPLAY:

$TKS:
$TKB:
$TPS:
$TPB:
$NULL :
SFILLS:

SFILLC:
$TPFLG:
$TIMES:

$ESCAPE:

$QUES:
$CRLF:
3LF

.=2100

.WORD
.BYTE
.BYTE
+WORD
.WORD
«WORD
+WORD
.BYTE
.BYTE
«WORD

177566
.BYTE
.BYTE

.BYTE
.BYTE

oo

.ASCII
LASCII
LASCIZ

SWR
DISP

imdd=l=l=lelelelelalelal Jolalelelelelele)

H 1
g-DEC-BZ 15:26 PAGE 57-5

+ s START OF

+ s CONTAINS
s s CONTAINS
: s CONTAINS
+ s CONTAINS
 ; CONTAINS
¢ : CONTAINS
+ ; CONTAINS
: ; CONTAINS
+ : CONTAINS
: s CONTAINS
: s CONTAINS
: s CONTAINS
: s CONTAINS

COMMON TAGS

THE TEST NUMBER

ERROR FLAG

SUBTEST ITERATION COUNT
SCOPE LOOP ADDRESS
SCOPE RETURN FOR _ERRORS
TOTAL ERRORS DETECTED
ITEM CONTROL BYTE

MAX. ERRORS PER TEST

PC OF LAST ERROR INSTRUCTION
ADDRESS OF °‘GOOD' DATA
ADDRESS OF °"BAD' DATA
'GOOD* DATA

‘BAD' DATA

: sRESERVED==NOT TO BE USED

: sAUTOMATIC MODE INDICATOR
: s INTERRUPT MODE INDICATOR

;sADDRESS OF SWITCH REGISTER

2 sADDRESS OF DISPLAY REGISTER
2:TTY KBD STATUS

::TTY KBD BUFFER

:sTTY PRINTER STATUS REG. ADDRESS
2:TTY PRINTER BUFFER REG. ADDRESS

: ; CONTAINS

NULL CHARACTER FOR FILLS

FILLER CHARACTERS REQUIRED

;s INSERT FILL CHARS. AFTER A ''LINE_FEED''

..'TERHINAL AVAILABLE'' FLAG (Bll<07>=0-VES)
NUMBER OF ITERATIONS

..ESCAPE ON ERROR ADDRESS

:sQUESTION MARK

s s CARRIAGE

:sLINE FEED

RETURN

sttt RRARRARRRARERRECRRRCERRORRACERRARRARARAARRAASRAARCAAACAORATRERS

.SBTTL APT MAILBOX-ETABLE

A AAAAAAAA LA LA A AL AR AAA AR AR ARl RRARRARRRRRRdddl)

::APT MAILBOX

.EVEN
SMAIL :
$MSGTY:
SFATAL:
$TESTN:
$PASS:

AMSGTY
AFATAL
ATESTN
APASS

ADEVCT
AUNIT

AMSGAD

: sMESSAGE TYPE CODE
:sFATAL ERROR NUMBER
::YEST NUMBER
sPASS COUNT
..DEVICE COUNT
:1/0 UNIT NUMBER
..HESSAGE ADDRESS

SEQ@ 0007
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'CNDRDA.P11  10~DEC~82 14:44 APT MAILBOX~ETABLE SEQ 0008
i -
| (2) 002206 000000 $MSGLG: .WORD Ansch\\:;nessnce LENGTH
L () 002210 $ETABLE : :APT ENVIRONMENT TABLE
(@) 002210 000 SENV: .BYTE AENV  ::ENVIRONMENT BYTE
. () 002211 000 SENVM: .BYTE AENVM
L) - :ENVIRONMENT MODE BITS
©(2) 002212 000000 $SWREG: .WORD ASWREG ::APT SWITCH REGISTER
(2) 002214 000000 SUSWR: .WORD AUSWR  ::USER SWITCHES
(2) 002216 000000 $CPUOP: .WORD ACPUOP ::CPU TYPE,OPTIONS
(2) v BITS 15-11=CPU TYPE
(2) e 11/04=01,11/05=02,11/20=03,11/40=04,11/45=05
2) e 11/70=06.PDQA=07,0=10
(2) e A ... BIT 10=REAL TIME CLOCK
(2) e : BIT 9=FLOATING POINT PROCESSOR
(2) ‘v - BIT 8=MEMORY MANAGCMENT
(2) 002220 000 §MAMS1: .BYTE  AMAMS! ;;HIGH ADDRESS,M.S. BYTE
(2) 002221 000 SMTYP1: .BYTE AMTYP1 ::MEM. TYPE,BLK#1
(2) v MEM.TYPE BYTE == (HIGH BYTE)
(2) e 900 NSEC CORE=001
(2) v - 300 NSEC BIPOLAR=002
(2) ‘v " 500 NSEC M0S=003
(2) 002222 000000 $MADR1: .WORD AMADR1 ;:HIGH ADDRESS,BLK#1
(2) . MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF ‘‘TYPE'' ABOVE
(2) 002224 000 $MAMS2: .BYTE  AMAMS2 ;:HIGH ADDRESS.M.S. BYTE
(2) 002225 000 SMTYP2: .BYTE AMTYP2 ::MEM.TYPE,BLKA?2
(2) 002226 000000 $MADR?: .WORD AMADR? ;:MEM.LAST ADDRESS,BLK#2
(2) 002230 000 $SMAMS3: .BYTE AMAMS3 ::HIGH ADDRESS,M.S.BYTE
(2) 002231 000 SMTYP3: .S8YTE AMTYP3 ::MEM.TYPE,BLKA3
(2) 0032§f 000000 $SMADR3: .WORD AMADR3 ;;MEM.LAST ADDRESS,BLK#3
(2) 0022 000 $MAMSL: .BYTE  AMAMS4L ;:HIGH ADDRESS,M.S.BYTE
(2) 002235 000 SMTYP4: .BYTE AMTYP4 ::MEM.TYPE,BLK#%
(2) 002236 000000 $SMADR4: .WORD  AMADRS ;:;MEM.LAST ADDRESS,BLK#%
(2) 002240 000000 SVECT1: .WORD AVECT1 ::INTERRUPT VECTOR#1,BUS PRIORITY#1
(2) 002242 000000 $VECT2: .WORD AVECT2, ;:INTERRUPT VECTOR#2BUS PRIORITY#2
(2) 002244 174160 $BASE: .WORD ABASE
(2) ::BASE ADDRESS OF EQUIPMENT UNDER TEST
(2) 002246 000001 SDEVM: .WORD ADEVM  ;;DEVICE MAP
(2) 002250 000000 $CDW1: .WORD ACDW1 ;:CONTROLLER DESCRIPTION WORD#1
i . ST >
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002252

002252
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002256
002260

015751
016266
016536
000000

015770

000000

016012

MACY11 30(1046)

;*THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN
;*LOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.

;*NOTE1:
;*NOTE2:

LR IR IR J

$ERRTB:
sERROR

sERROR

" ;ERROR

sERROR

;ERROR

:ERROR

:ERROR

1
15-DEC-82 15:26 PAGE 57=7
ERROR POINTER TABLE

.SBTTL ERROR POINTER TABLE
;*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.

EM14

If SITEMB IS O THE ONLY PCRTINENT DATA IS (SERRPC).

:.POINTS TO THE E:?OR MESSAGE

ssPOINTS TO THE D
s ;POINTS TO THE
: ;POINTS TO THE

;REG TIMEOUT ER
sERRPC TSTNUM
s SERRPC TSTNUM

sREG READ/WRITE
sERRPC TSTNUM
sSERRPC TSTNUM

;IRR REG ER
JERRPC TSTNUM
JSERRPC TSTNUM

+ACR REG ER
+ERRPC TSTNUM
sSERRPC TSTNUM

:IMR REG_ERROR
sERRPC  TSTNUM
sSERRPC TSTNUM

;ISR REG_ERROR
:ERRPC  TSTNUM
;SERRPC TSTNUM

ER
BUSADR
$BDADR

BUSADR
$BDADR

BUSADR
$BDADR

BUSADR
$BDADR

BUSADR
$BDADR

:VECTOR ADDR MEM ER

:ERRPC  TSTNUM
:SERRPC TSTNUM

BUSADR
$BDADR

DATA

A HEADER

DATA FORMAT

BUSADR
$BDADR

VAM
VECVAL

VAM
VECVAL

VAM
VECVAL

VAM
VECVAL

VAM
VECVAL

EXPCT
$GDDAT

— m—— e ——  ——— — ————— &

EXPCT
$GDDAT

ADDR
VECLOC

ADDR
VECLOC

ADDR
VECLOC

ADDR
VECLOC

ADDR
VECLOC

RCVD
$BDDAT

RCVD
$BDDAT

EXPCT
$GDDAT

EXPCT
$GDDAT

EXPCT
$GDDAT

EXPCT
$GDDAT

EXPCT
$GDDAT

EACH ITEM IN THE TABLE CONTAINS 4 POINTERS EXPLAINED AS FOLLOWS:

RCVD
$BDDAT

RCVD
$BDDAT

RCVD
$BDDAT

RCVD
$BDDAT

RCVD
$BDDAT

SEQ 0009
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ERROR POINTER TABLE

:ERROR 10
EM10 JCHIP STAT ER
DH2 JERRPC TSTNUM BUSADR VAM ADDR
8!2 JSERRPC TSTNUM $BDADR VECVAL VECLOC
:ERROR N

EMI s ILLEGAL INTERRUPT RECEIVED
DH3 sERRPC TSTNUM BUSADR VAM ADDR
8T3 sSERRPC TSTNUM $BDADR VECVAL VECLOC

;ERROR 12

EM12 s INTERRUPT TEST ERROR

DH2 cERRPC TSTNUM BUSADR VAM ADDR
872 sSERRPC TSTNUM $BDADR VECVAL VECLOC

;ERROR 13 sMULTIPLE INTERRUPTS RECEIVED
EMI3 sMULTIPLE INTERRUPTS RECEIVED
DH2 sERRPC TSTNUM BUSADR VAM ADDR
BTZ sSERRPC TSTNUM $BDADR VECVAL VECLOC

;ERROR 14
EM7 sILLEGAL VECTOR ADDR MEM ERROR
DHé sERRPC TSTNUM TESTPC BUSADR VAM
8T6 ;SERRPC TSTNUM SGDADR $BDADR VECVAL

; BUS REGISTER ADDRESS POINTERS

DRCSA: ABASE
DRDBA: ABASE+2
DRCSB: ABASE+4
DRDBB: ABASE+6
DRCSC: ABASE+10
DRDBC: ABASE+12
DRCSD: ABASE+14
DRDBD: ABASE+16

:COMMON PROGRAM LOCATION(S)

gg;gUH: ? :CONTAINS TEST NUMBER ON ERROR
INTFLG: .WORD
XXDP: .WORD
IMRLOC: .WORD
ISRLOC: .WORD
IRRLOC: .WORD
ACRLOC: .WORD
VECLOC: .WORD

lelelelelelele

EXPCT
$GDDAT

EXPCT
$GDDAT

EXPCT
$GDDAT

ADDR
VECLOC

RCVD
$BDDAT

RCVD
$BDDAT

RCVD
$BDDAT

SEQ 0010



r

i
/CNDRDA DRV11J DIAG TST_PRT2

CNDRDA.P11

002454
002456
002460
002462
002464
002466
002470
002472
002474

10-DEC=82 14:44

000000

L 1
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ERROR POINTER TABLE

VECPAT: .WORD
VECVAL: .WORD
SWRSAV: .WORD
GRPCNT: .WORD
BDSAV: .WORD
LVLCNT: .WORD
BYCNT: .WORD
BYNUM: .WORD
LVLSAV: .WORD
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002100
002140
002100
014342

000309

015602
000300
015376
000300
002160
002162
000001
002614
002622

000004
002670
177570
177570
177777

002676

000176
000174
000004

002176
000200

002212
002172

002170
002174
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000020

000032

000034
000036
000024
000026

002115
002106
002110

002211
002140

PROGRAM START
.SBTTL PROGRAM START :
START: .

.SBTTL INITIALIZE THE COMMON TAGS

:sCLEAR THE COMMON TAGS (SCMTAG) AREA
MoV #SCMTAG,R6 ;:FIRST LOCATION TO BE CLEARED
CLR (R6) + s ;CLEAR MEMORY LOCATION

CMP #SWR,R6 ;;DONE?
NE .~6 ;;LO0P BACK IF NO
MOV 02100 SP ..SETUP THE STACK POINTER
ssINITIALIZE A FEW VECTORS
MOV #$SCOPE ,a#IOTVEC ;;lO0T VECYOR FOR SCOPE ROUTINE
HOV lPRb.iJIOIVEC*Z s:LEVEL 6
MOV #SERROR ,a#EMTVEC ..EHT VECTOR FOR ERROR ROUTINE

MoV #STRAP ,@#TRAPVEC ;;TRAP VECTOR FOR TRAP CALLS
MOV #PR6, a#TRAPVEC+2; LEVEL 6

MoV #SPURDN , a#PWRVE( ..POUER FAILURE VECTOR

MoV #PR6 , A#PWRVEC+2 ;:LEVEL 6

CLR STIMES ..INITIALIIE NUMBER OF ITERATIONS

CLR $ESCAPE s sCLEAR THE ESCAPE ON ERROR ADDRESS
Move #1,SERMAX s;ALLOW ONE ERROR PER TEST

MoV ..SLPADR ..INITIALIZE THE LOOP ADDRESS FOR SCOPE
MOV .SLPERR :SETUP THE ERROR LOOP ADDRESS

::SIZE FOR A yARRpARE SWITCH REGISTER. IF NOT FOUND OR IT IS
ssEQUAL TO A *'=1'', SETUP FOR A SOFTWARE SWITCH REGISTER.

MoV SHERRVEC,-(SP) ~;;SAVE ERROR VECTOR

MoV l64$ﬁa'ERRVEC s:SET UP ERROR VECTOR

MOV #DSWR, SWR ;:SETUP FOR A HARDWARE SWICH REGISTER
MOV #DDISP,DISPLAY ;AN A n‘RDWARE DISPLAY REGISTER
CMP #-1,3SWR ::TRY TO REERENCE HARDWARE SWR
BNE 66% : :BRANCH IF NO TIMEOUT TRAP OCCURRED
ssAND THE HARDWARE SWR IS NOT = =1

BR 65% : ;BRANCH IF NO TIMEOUT

648: g?y #65%, (5P) ::SET UP FOR TRAP RETURN

65%: MoV #SWREG, SWR :sPOINT TO SOFTWARE SWR

MoV #DISPREG,DISPLAY
668%: MOV (SP)+,@#ERRVEC ;;RESTORE ERROR VECTOR

CLR $PASS ; sCLEAR PASS COUNT

BITB  WAPTSIZE,SENVM ::TEST USER SIZE UNDER APT
BEQ 67% S:YES,USE NON-APT SWITCH
o MOV #SSWREG, SWR $iNO,USE APT SWITCH REGISTER
" CLR SFATAL ;CLEAR ERROR NUMBER
CLR SMSGTYP SCLEAR MESSAGE TYPE

CLR S$TESTN :CLEAR TEST NUMBER
;;THE FOLLOWING LINES OF CODE WERE DELETED IN ORDER TO MAKE
;. THIS DIQGNESTIC SPECIFIC TO FALCON (11/721).

AL FALCON ; CHECK FOR FALCON (KXT11) s sGPA
:BEQ 1000% : BR IF NOT KXT11 SYSTEM ::GPA
:BIC #40,3#2 : FALCON, LOUER I0T... : :GPA
:BIC #40,3#3 ....EHT... ::GPA
:BIC #40,a#36 '...AND TRAP TO LEVEL 6. s sGPA
s CMP SBASE #ABASE s 1S $BASE VIRGIN ?? s sGPA

SEQ@ 0012
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002754
002760
002762
002770
002772
003000
003002
003010
003012

003046
003052

003056

003020

005737
001410
023737
001410
012737
000404
123727
001003
112737

005227
001014
004537
005737
001403
005737
001404
104401
104401

005737
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000042
000042
177777
002210
000001

177777

011306
002134

002440

015662
015724

002134

002202
002246
177760
002244
002412
000001

010570
002412

000002
002432

011456
002100
002202
002210

000300

MACY11 30(1046)

000046
002440
000001
002134

002434
002434

002434

002200
000001

INITIALIZE THE COMMON TAGS

N 1
15-DEC-82 15:26 PAGE 57-11

IF NOT. ;s GPA
s :GPA
: ;GPA

; BR
; YES, USE ENGINEERING DEFAULT

sARE WE IN ACT/XXDP AUTO MODE?
sBRANCH IF NO

sIS IT ACT AUTO MODE?

;BRANCH IF YES

sSET XXDP CHAIN MODE INDICATOR

;ARE WE IN APT AUTO MODE?
:BRANCH IF NO
sSET AUTO MODE INDICATOR

NO} IN ACT OR APT AUTO MODE

sFIRST TIME?

:SKIP TITLE IF N

:STORE 0-202 lNTO BUFFER AREA
:ARE WE IN AUTO MODE?

:BRANCH TO TITLE TYPEOUT IF NOT
:IS THE AUTO MODE UNDER XXDP?
sSKIP TITLE IF NOT

sPRINT OUT THE TITLE

sPRINT DRV11J CABLE REQ'D

ARE WE IN AUTOMATIC MODE?
:BRANCH IF YES
:ASK FOR SWR INPUT FROM CONSOLE
:CLEAR UNIT NUMBER
:UP TO 4 DRV11J'S
:POSITION OF DRVI1J'S
:GET BASE ADDRESS
:MAKE BUS REG.POINTER = BASE
Ig FIRST DRV11=J SELECTED

YES
:NO,ADVANCE BASE DRV11J ADDRESS
EE{DUEHREGISTER ADDRESS POINTERS

.ALL DONE?

:BR IF NOT

sEXTEND TRAP CATCHER 204-1774&
sALWAYS RESET STACK

:LOAD APT COUNTER WITH UNIT #
:ARE WE IN APT MODE?

sBR IF YES,SKIP RESET
sINITIALIZE

:BNE  1000%
MOV #174160, $BASE
;10008 :
:CHECK OPERATING ENVIRONMENT
ST anL2
BEQ 1%
CMP aNG2,au46
BEQ 2$
MOV #=1,XXDP
BR 2%
18: CMPB  SENV,#1
BNE 3$
28: MOVB  #1,$AUTOB
PRINT TITLE IF
§s: INC
BNE 5
JSR RS, TOBUF
TST $AUTOB
BEQ 4%
ST XXDP
BEQ 58
4$: TYPE  ,TITLED
TYPE . TLCABL
-GET THE VALUE IN tus SOF TWARE suxrcn REGISTER
§s: TST SAUTOB
BNE START1
GTSWR
START1: CLR SUNIT
MOV $DEVM, DMAP
BIC #177760,DMAP
MOV $BASE ,R1
MOV R1,DRCSA
BIT #1.DMAP
BNE NEXPAS
JMP NXDEV1
NEXPAS: MOV #DRCSA,RO
NEXPAT: MOV R1, (ROJ+
ADD #2.R1
CMP #DRDBD+2,R0
BNE NEXPA1
JSR RS, TRPCAT
MOV #2100, P
MOV SUNIT.SDEVCT
CMPB  SENV,#1
BEQ NEXPA2
RESET
NEXPA2: MTPS  #PR6

——— e —— ~ —r——

:VER:0

SEQ 0013



8
CNDRDA DRV11J DIAG TST_PRT2 MACY11 30(1046) 15-DEC-B2 15:26 PAGE 58 '

CNDRDA.P11  10-DEC-82 14:44 INITIALIZE THE COMMON TAGS SEQ 0014
91
391 ;:tQﬁtlttttttttttttt'tt'QQQtt"tttt't.Qtltt'tttttt.'ttt'ttttti'tt
(3) SATEST 1 TEST CHIP INTERRUPT ,GROUP 1,GROUP 2
(3) B2 23212323 IR RE a2 232222 2233233223233 33232 2322323222212
gg 003206 000004 tST1:  ScoPe
5918 003210 013700 002412 MOV DRCSA,RO :START WITH GROUP 1
§919 003214 013701 00 413 MOV DRCSB.R1
§920 003 81 73; 00241 MOV DRCSA.R2 ;REGISTER IS COMMON FOR BOTHM GROUPS
§921 0032264 012737 00 zrg oosno MOV #1118, 8LPERR  :SET UP LOOP RETURN
sogg 003232 O1 7;7 02 002462 MOV og.enécur :COUNTER FOR BOTH GROUPS
5923 003240 004537 010746 1208:  JSR RS.CLRCSR :CLEAR ALL CSRS
5924 003244 013703 012570 MOV #8GCHP3,R3 :EXPECTED GDDAT FOR ISR, IMR
5925 003250 012737 000050 002442 MOV #CSIMR,IMRLOC  :STORE CLEAR SINGLE IMR CODE
§926 003256 004537 0110;6 JSR RS,CLRIRR :CLEAR IRR REGS
§927 0032 015737 11576 000300 MOV o;nrsn1 300 :STORE VECTOR ROUTINE
5928 003270 012737 300 000302 MOV #300,302 :STORE PSW ;VER:
59 003273 005037 002436 1118: CLR INTFLG :CLEAR INT. FLAG
5930 00330 013706 002100 MOV #2100, SP SINIT STACK IN CASE OF ILLEGAL INT. LOOP
5931 003 112710 000340 MOVE  #PVMA.(RO) *PRESELECT VECTOR MEM ADDR
§932 003312 112711 MOVE  #60,(R1) :WRITE VECTOR 300,8Y0,LVO
5933 003313 010037 00212 MOV RO, $BDADR $SAVE BUS ADDRESS
5934, 003322 112710 000060 MOVE  #SIMR, (RO) $SET ALL IMR BITS
5935 oossgg 1137210 002442 MOVB  IMRLOC, (RO) :CLEAR MASK ON SINGLE BIT
5936 003332 112710 000202 MOVB  #202,(RO) :LMDO4 = COMMON VECTOR
5937 003336 106427 000000 MTPS  #PRO
5938 003342 112712 000241 MOVB  #241,(R2) ;USED IN TEST OF GROUP 2
2939 :ARM GROUP 1 TO PASS
940 $ENABLE TO GROUP 2.
5941 003343 112710 000241 MOVEB  #241,(RO) :LMDS? = ARM THE CHIP
5942 003352 005737 002436 ST INTFLG :CHECK FOR INTERRUPTS
5943 003356 001401 BEQ 18
5944 003360 104011 ERROR 11 :ERROR, ILLEGAL INTERRUPT
5945 003362 005037 002436 1$: CLR INTFLG SRESET INT. COUNTER
5946 003366 112710 000120 MOVEB  #SIRR,(RO) *SET ALL IRR BITS
5947 003372 106427 000300 MTPS  #PR6  :VER:0
5948 003376 005737 002436 ST ;NTFLG ;CHECK FOR NO INTERRUPTS
5949 003402 001401 8EQ $
5950 003404 104011 ERROR 11 ;ILLEGAL INTERRUPTS
5951 oosaog 005037 002436 28: CLR INTFLG $CLEAR INT. COUNTER
5952 003412 106427 000000 MTPS  #PRO
5953 003416 15 76; 000002 000001 BISB  #BIT1,1(R2) ;SET I/E,EXPECT INTERRUPT
5954 0034;3 012737 000001 005154 MOV #1,8GODAT SEXPECT ONE INTERRUPT
5955 003432 013737 002436 002126 MOV INTFLG,SBODAT  :SHOULD HAVE ONE INTERRUPT
5956 003440 023737 002124 002126 CMP $GDDAT,$BDDAT
5957 003446 001401 BEQ 3s
5958 003450 10401; ERROR 12 : INTERRUPT TEST ERROR
5959 003452 1og4§ 000 3$: MTPS  #PR6  :VER:0 .
5960 003456 grr w1g 002124 MOV #101710,$GODAT  ;RDY,DIR,IZE, CHIP = 31X
5961 003464 010237 00212 MOV R2,$BDADR :CSRA ADDRESS
596§ 003470 011237 00212 MOV (R2) , SBDDAT
5963 003474 g 7 000007 002126 BIC #7,$B80DAT ;CLEAR UNDEF INED BITS
5964 oossos 23737 002126 002126 CMP $GODAT, SBODAT
5965 00351 1401 Q 48
5969 883512 1o4og; ERROR 2 :CSRA REG ERROR
596 3514 010137 002122 4$: MOV R1,$BDADR *READY TO READ ISR REG.
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6$:

7$:

108:
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138:
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TEST CHIP INTERRUPT ,GROUP 1,GROUP 2

CLR $BDODAT ;SET UP FOR BYTE READS
$GDDAT :SET UP FOR BYTE EXPECTED

MOVEB  (R3),S$GDDAT SEXPECTED DATA

MOVB  #MISR, (RO) :LOAD MODE TO READ ISR

MOVB  (R1),$BDDAT

CMP ggooar.ssooAt

BEQ

ERROR 6 s ISR_ERROR

Move 1(R3) ,$GDDAT :STORE EXPECTED
Move #MIMR, (RO) :LOAD MODE FOR IMR

MOVB  (R1),$BDDAT
CMP SgDDAT.SBDDAT

BEQ

ERROR g s IMR_ERROR

Move 1(R3) ,$GDDAT sEXPECTED IRR

Move #MIRR, (RO) sLOAD MODE BITS FOR IRR

MOVB  (R1),$BDDAT
CMP ;gDDAT.SBDDAT

ERROR 3 ;IRR ERROR
CLR $GDDAT

MOVE  #MACR, (RO)

MOVB  (R1),$BDDAT

CMP ?ggDAT.SBDDAT

BEQ

ERROR & ;ACR ERROR

CLR $SGDDAT

MOVB #CHPISR, (RO) sCLEAR HIGHEST PRIOR ISR
MOvB #MISR, (RO) sLOAD MODE TO READ ISR

MOVB  (R1),$BDDAT
CMP ??gDAT.SBDDAI

BEQ
ERROR 6 ;ISR REG ERROR

MOV #101710,$GODAT :RDY.DIR,I/E, CHIP = 31X
MOV R2,$BDADR :CSRA ADDRESS

MOV (R2),$BDDAT

BIC #7,$8DDAT ;CLEAR UNDEF INED BITS

CMP $GODAT,$BODAT

BEQ 128

ERROR 2 ;CSRA REG ERROR

MOV #100710,$GDDAT  :RDY,DIR, CHIP = 31X

BIC #8179, (R2) :CLEAR 1/E

MOV (R2) ,$BDDAT *READ CSRA

BIC #7,8BDDAT :CLEAR UNDEF INED BITS

CMP $GDDAT,SBODAT

BEQ 13$

ERROR 2 :CSRA REG ERROR

ST (R3)+ SGET NEXT ISR,IMR EXPECTED RESULTS
ggs gziceocurs SCHECK FOR END

INC IMRLOC : INCREMENT MASK BIT TO CLEAR
JMP 1118 STEST NEXT ISR BIT

DEC GRPSNT *TESTED BOTH GROUPS?

BEO ST 2:BR IF DONE

MOV DRCSC,RO :SETUP FOR GROUP 2

MoV DRCSD,R1 :CSRC = CONTROL GROUP 2

SEQ@ 0015
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CNDRDA.P11  10-DEC~B82 14:44 TEST CHIP INTERRUPT ,GROUP 1,GROUP 2 SEQ 0016
6024 ;:CSRD = DATA  GROUP 2
ﬁgmmownmmo JMP 1208 :D0 GROUP 2
6027
6028 A L A A A A A i it el

(3) SeTEST 2 TEST ACR/ISR INTERRUPT ,GROUP 1,GROUP 2
(3) 2 2332232333233 2333233223323 232333233233 2333332333233 33323232223233323233232332.
gg; 004054 000004 T§T2:  SCOPE
6029 004056 013700 002412 MOV DRCSA,RO
6030 004 013701 002416 MOV DRCSB,R1
6031 004 013702 002412 MOV DRCSA,R2
6032 004072 012737 004144 002110 MOV #111$,8LPERR  ;SET UP LOOP RETURN
6033 004100 012737 000002 002462 MOV #2 ,GRPCNT :00 TWO GROUPS
6034 004106 004537 010746 1208:  JSR RS.CLRCSR :CLEAR ALL CSRS
6035 004112 012703 012570 MOV #8GCHP3,R3 :EXPECTED GDDAT FOR ISR
6036 004116 012737 000050 002442 MOV #CSIMR,IMRLOC  :STORE CLEAR SINGLE IMR CODE
6037 004124 004537 011026 JSR RS,CLRIRR ;CLEAR IRR REGS
6038 004130 015737 011576 000300 MOV #INTSR1,300 :STORE VECTOR ROUTINE
6039 004136 012737 000300 000302 MOV #300,302 :STORE PSW ;VER:0
6040 004144 005037 002436 1118:  CLR INTFLG :CLEAR INT. FLAG
6041 004150 012703 002100 MOV #2100, SP SINIT STACK IN CASE OF ILLEGAL INT. LOOP
6042 004154 042712 001000 BIC #BIT9. (R2) :CLEAR INTERRUPT ENABLE
6043 004160 112712 00024 MOVB  #242,(R2) :CLEAR MASTER MASK GP1
6044 004164 112710 00024 MOVB  #242.(RO) *CLEAR MASTER MASK GP1,GP2
6045 004170 112710 000300 MOVEB  #PACR, (RO) :PRESELECT ACR FOR WRITING
6046 004176 111311 MOVB  (R3),(R1) INEXT BIT INTO ACR
6047 832173 113710 348 MOVB  #PVMA, (RO) ;PRESELECT VECTOR MEM ADDR
6048 202 112711 06 MOVB  #60,(R1) :WRITE VECTOR 300,8Y0,LVO
6049 004503 010037 002122 MOV RO, $BDADR :STORE BUS ADDRESS
6050 00421 115710 000060 MOVEB  #SIMR, (RO) :SET ALL IMR BITS
6051 004216 113710 002442 MOVB  IMRLOC, (RO) :CLEAR MASK ON SINGLE BIT
6052 004222 112710 000202 MOVB  #202, (RO) :LMDO4 = COMMON VECTOR
6053 004226 106427 000000 MTPS  #PRO
6054 ooassz 15272; 000002 000001 BISB  #BIT1,1(R2) :SET I/E.NO INTERRUPT
6055 004240 005737 0024 ST INTFLG +CHECK FOR INTERRUPTS
6056 0046244 001401 BEQ 1
6057 004246 104011 ERROR 11 ;ERROR, ILLEGAL INTERRUPT
6058 004250 005037 002436 1$: CLR INTFLG SRESET INT. COUNTER
6059 004254 112710 000120 MOVB  #SIRR, (RO) :SET ALL IRR BITS
6060 0042 1066%7 000300 MTPS  #PR6 ~ ;VER:0
6061 004264 005737 002436 ST &NTFLG ;CHECK FOR NO INTERRUPTS
w% 004270 001401 BEQ $
6063 004272 104011 ERROR 11 ;ILLEGAL INTERRUPTS
6064 004274 005037 002436 2s: CLR INTFLG :CLEAR INT. COUNTER
6065 004 103427 000000 MTPS  #PRO
6066 004304 112712 000241 MOVEB  #241,(R2) ;USED IN TEST OF GROUP 2
6067 :ARM GROUP 1 CHIP TO PASS
6068 :ENABLE TO GROUP 2 CHIP.
6069 004310 11 719 0241 MOVB  #241,(RO) :ARM THE CHIP
6070 004314 01273 002154 MOV #1,3GDDAT :EXPECT ONE INTERRUPT
6071 004322 013737 0024 0051 b MOV gufftc.saoout :SHOULD HAVE ONE INTERRUPT
6072 004330 023737 002124 002126 CMP GODAT ,$BDDAT
6073 004336 001401 BEQ 3s
6074 004340 10401 ERROR 12 : INTERRUPT TEST ERROR
6075 004342 106427 000300 3$: MTPS  #PR6  :VER:0
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6076 004343 010137 002152
6077 004352 005037 002126
6078 004%23 005037 002124
6079 004 112710 000240
6080 004362 111137 002126
6081 004372 023737 0021264
6082 004400 001401
6083 004402 104006
6084 004404 113337 000001
6085 004412 112710 000244
6086 004416 111137 002126
6087 004422 023737 002124
6088 004430 001401
6089 004432 104005
6090 0044 116337 000001
6091 004442 112710 000250
6092 004446 111137 002126
6093 004452 023737 0021264
6094 0044 001401
6095 004462 104003
6096 0044 111337 002124
6097 004470 112710 000254
6098 004474 111137 002126
6099 004500 023737 002124
6100 004506 001401
6101 004510 104004
610% 004512 005723
6105 004514 OZOS%Z 012610
6104 004520 0014
6105 004522 005237 002442
6106 0045%6 000137 004144
6107 004532 005337 002462
6108 004536 001406
6109 004540 013700 002422
g}}? 004544 013701 002426
611§ 004550 000137 004106
611
6114
6115
6116

(3)

(3)

f%; 004554 000004
6117 004556 013700 002412
6118 004562 013701 00541
6119 0045 01370; 00241
6120 004572 012737 00000
6121 004600 012737 1
6125 004606 004537 10768
6123 004612 012737 00034
6124 004620 012706 012570
6125 004654 81 7;7 10
6126 004632 012737 50
6127 004640 012737 000130

MACY11 30(1046)
T2

002126
002124
002126
002124

002126

002126

00246
00247

002456

4
00344
002446

E 2
15-DEC~-82 15:26 PAGE 58-3
TEST ACR/ISR INTERRUPT ,GROUP 1,GROUP 2

48: MOV R1,$BDADR ;READY TO READ ISR REG.
CLR $BODAT *SET UP FOR BYTE READS
CLR $GDDAT :SET UP FOR BYTE EXPECTED
MOVB  #MISR,(RO) :LOAD MODE TO READ ISR
MOVB  (R1),$BDDAT
gg: ggooAr.ssooAt ;ACR SHOULD CLEAR ISR
ERROR 6 ;ISR ERROR

58: MOVB  1(R3),$GDDAT  :STORE EXPECTED
MOVB  #MIMR. (RO) *LOAD MODE FOR IMR
MOVB  (R1),$BDDAT
CMP $GDDAT,SBDDAT
BEQ 6$
ERROR § :IMR ERROR

68: MOVB  1(R3),$GDDAT  :EXPECTED IRR
MOVB  #MIRR. (RO) *LOAD MODE BITS FOR IRR
MOVB  (R1),$BDDAT
CMP $GDDAT,SBDODAT
BEQ 7%
ERROR 3 ;IRR ERROR

78: MOVB  (R3),$GDDAT SEXPECTED ACR
MOVB  #MACR, (RO)
MOVB  (R1),$BDDAT
CMP $GDDAT,$BDODAT
BEQ 108
ERROR & :ACR ERROR

108:  TST (R3)+ SGET NEXT ISR,IMR,IRR EXPECTED RESULTS
CMP R3,#EDCHP3 SCHECK FOR END
BEQ 11§ :DONE WITH GROUP TEST
INC IMRLOC * INCREMENT MASK BIT TO CLEAR
JMP 111% STEST NEXT ISR BIT

11$:  DEC GRPCNT *TESTED BOTH GROUPS?
BEQ TST ::BR IF DONE
MOV DRCSC.RO :SETUP FOR GROUP 2
MOV DRCSD.R1 SCSRC = CONTROL GROUP 2

:CSRD = DATA  GROUP 2

JMP 1208 :D0 GROUP 2

sottktkktbtttttbttttttttbRAdddAAAAAAAARRERARAARREONOOROOCORCCOOTRESE

S*TEST 3 TEST VECTOR ADDR MEM,LEV 0-7,BY0-3,(204=1774) ,GRPS 1,2
°:tttttttttt'ttttttttttt'tttt"ittt'ttttttittt.tt.ttttttttittitit
7ST3:  SCOPE

MOV DRCSA,RO

MOV DRCSB.R1

MOV DRCSA.R2

MOV #2.GRPCNT :D0 TWO GROUPS
1208: MOV #1.BYNUM :INIT FOR BYTE COUNT 0

JSR RS.CLRCSR :CLEAR ALL CSRS

MOV #PVMA,VECVAL  :START VECTOR LEVEL 0,BYTE COUNT 0
121$: MOV #BGCHP3, R4 *EXPECTED ISR,IMR PATTERN

MOV #8. LVLCNT :COUNTER FOR 0=7 LEVELS

MOV #CSIMR,IMRLOC  :STORE SINGLE IMR CODE

MOV #SSIRR.IRRLOC  :STORE SINGLE IRR CODE

SEQ 0017
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CNDRDA.P11  10-DEC-82 14:44 T3 TEST VECTOR ADDR MEM,LEV 0-7,8Y0=3,(204=1774),GRPS 1,2 SEQ 0018
6128 004646 012737 000170 002444 MOV agsnsn.xsaLoc ;STORE CLEAR SINGLE ISR CODE
6129 004654 004537 011456 JSR RS, TRPCAT *RESTORE TRAP CATCHER
6130 004660 012737 004674 002110 MOV #1128,SLPERR  :STORE SCOPE LOOP
6131 004666 012737 000204 002452 111$: MOV #§04.VECLOC ‘START AT VECTOR 204
6132 006674 106427 000300 1128: MTPS  #300 ‘VER:0
6133 004700 012706 002100 MOV #2100, SP SINIT STACK IN CASE OF ILLEGAL INT. LOOP
6134 004706 042712 001000 BIC #BITY. (R2) *CLEAR INTERRUPT ENABLE
6135 004710 004537 011026 JSR RS, CLRIRR *CLEAR IRR REGS
6136 004714 112712 000241 MOVB  #241,(R2) SUSED IN TEST OF GROUP 2
6137 *ARM GROUP 1 CHIP TO PASS
6138 ‘ENABLE TO GROUP2 ,
6139 004720 013703 002452 MOV VECLOC,R3 :GET VECTOR _
6140 004724 010337 002454 MOV R3,VECPAT
6141 004730 006037 002454 ROR VECPAT :ROTATE VECTCR ADDR TWO RIGHT
6142 004734 006037 002454 ROR VECPAT :TO WRITEYVECTOR MEM ADDR.
6143 004740 012713 011632 MOV #INTBY4,(R3)  :STORE VECTOR ROUTINE
6144 004744 012763 000300 000002 MOV #300,2(R3) :STORE PSW ;VER:0
6145 004752 005037 002436 CLR INTFLG :CLEAR INT. FLAG
6146 004756 013737 002472 002470 MOV BYNUM,BYCNT :BYTE COUNTS OF 0-3
6147 004764 113710 002456 MOVB  VECVAL,(RO) :PRESELECT VECTOR MEM ADDR
6148 004770 113711 002454 1138: MOVB  VECPAT.(R1) :WRITE VECTOR
6149 004774 005337 002470 DEC BYCNT :DONE WITH BYTE COUNT VALUE
6150 005000 001373 BNE 1138 *NO,LOAD VECTOR FOR NEXT BYTE COUNT
6151 005002 010037 002122 MOV RO, $BDADR :SAVE BUS ADDRESS
6152 005006 112710 000060 MOVB  #SIMR, (RO) SSET ALL IMR BITS
6153 005012 113710 002442 MOVB  IMRLOC, (RO) :CLEAR MASK ON SINGLE BIT
6154 005016 106427 000000 MTPS  #PRO
6155 005022 11;719 000241 MOVB  #241,(RO) ;LMDS7 = ARM THE CHIP
6156 005026 005737 002436 TST INTFLG :CHECK FOR INJERRUPTS
6157 005032 001401 BEQ 1$
6158 005034 104011 ERROR 11 ;ERROR, ILLEGAL INTERRUPT
6159 005036 005037 002436 1$: CLR INTFLG SRESET INT. COUNTER
6160 005042 113710 002446 MOVB  IRRLOC, (RO) :SET SINGLE IRR BIT
6161 005046 1064%7 000300 MTPS  #PR6  :VER:0
6162 005052 005737 002436 ST INTFLG ;CHECK FOR NO INTERRUPTS
6163 005056 001401 BEQ 2
6164 005060 104011 ERROR 11 ; ILLEGAL INTERRUPTS
6165 005062 005037 002436 28: CLR INTFLG :CLEAR INT. COUNTER
6166 005066 106427 000000 MTPS  #PRO
6167 005072 152762 000002 000001 BISB  #BIT1,1(R2) :SET 1/E.EXPECT INTERRUPT
6168 005100 013737 002472 002124 MOV BYNUM_SGDDAT  :EXPECT 1 TO 4 INTERRUPTS
6169 *BASED ON BYTE COUNT VALUE
6170 005106 013737 002436 002126 MOV INTFLG,SBDODAT  :SHOULD HAVE 1 TO & INTERRUPTS
6171 *BASED ON BYTE COUNT VALUE
6172 005114 023737 002124 002126 CMP $GDDAT,SBODAT
6173 005122 001401 BEQ i1
6174 005124 10401 ERROR 12 : INTERRUPT TEST ERROR
6175 oos1§g 1ou.§ 000300 38: MTPS  #PR6  :VER:0
6176 005132 010137 002122 4$: MOV R1,$BDADR :READY TO READ ISR REG.
6177 005136 005037 00 156 CLR $BODAT *SET UP FOR BYTE READS
6178 005142 005037 002124 CLR $GDDAT SSET UP FOR BYTE EXPECTED
6179 oos1ag 111437 002124 MOVB  (R&4),SGDDAT SEXPECTED DATA
6180 005152 112710 000240 MOVB  #MISR, (RO) *LOAD MODE TO READ ISR
6181 005153 111137 002126 MOVB  (R1),$BDDAT
ggag 005162 023737 002124 002126 CMP SgDDAT.SBDDAT
6ia3 105170 001401 BEQ 5 '




CNDRDA DRV11J DIAG TST PR

6 2
T2 MACY11 30(1046) 15-DEC-82 15:26 PAGE 58-5
CNDRDA.P11 10-DEC-82 14:44 T3

TEST VECTOR ADDR MEM,LEV 0-7,BY0-3,(204=1774) ,GRPS 1,2 SEQ 0019

6184 005172 104009 ERROR 6 ;ISR ERROR
6185 005174 11343 000001 002124 5$: MOVB  1(R4),$GDDAT  :STORE EXPECTED
6186 005202 112710 000244 MOVEB  #MIMR.(RO) :LOAD MODE FOR IMR
6187 ooszog 111137 002126 MOVB  (R1),$BDDAT
6188 00551 023737 126 002126 CMP $GDDAT,$BODAT
6189 005220 001401 BEQ 6
6190 005222 104005 ERROR S ;IMR ERROR
6191 oosz;a 005037 002124 68: CLR $GDDAT
6192 005230 112710 000250 MOVEB  #MIRR, (RO) ;LOAD MODE BITS FOR IRR
6193 005234 111137 002126 MOVB  (R1),$BDDAT
6194 005540 023737 002124 002126 CMP $GDDAT, $BDDAT
6195 005246 001401 BEQ 7
6196 005250 104003 ERROR 3 :IRR ERROR
6197 005252 005037 002124 78: CLR $GDDAT
6198 005256 112710 000254 MOVEB  #MACR, (RO)
6199 005262 111137 002126 MOVB  (R1),$BDDAT
005266 023737 002124 002126 CMP $GDDAT, SBDDAT
6201 005274 001401 BEQ 108
6202 005276 104004 ERROR 4 ;ACR ERROR
6203 005 005037 002124 108: CLR $GDDAT
6204 005304 113710 002444 MOVB  ISRLOC, (RO) ;CLEAR SINGLE ISR BIT
6205 005310 112710 000240 MOVB  #MISR, (RO) *LOAD MODE TO READ ISR
06 005314 111137 002126 MOVB  (R1),$BDDAT
6207 005320 023737 002124 002126 CMP $GDDAT, SBDDAT
6208 005326 001401 BEQ 1%
6209 005330 104006 ERROR 6 ;ISR REG ERROR
6210 005332 004537 011364 118:  JSR RS,RESTRP *RESTORE VECTOR JUST TESTED
2511 oosssg 005737 017302 ST KXTFLAG : KXT11 2?2 ::GPA
12 005342 001404 BEQ 1008 : BR IF NOT ::GPA
6213 005344 022737 000400 002452 CMP #400, VECLOC : YES, FINISHED 204=374 22 ::GPA
6214 005352 03 403 : SKIP NEXT TO FIND OUT : :GPA
6215 005354 1008 : ::GPA
6216 005354 022737 002000 002452 CMP #2000,VECLOC  :FINISHED?
6217 005362 001402 BEQ 12$ SFINISKED VECTORS 204=1774?
6218 0053664 000137 004674 JMP 1128 STEST NEXT VECTOR ADDR
6219 005370 005724 128:  TST (RG)+ S INDEX EXPECTED ISR AND IMR PATTERN
6220 005372 005237 002442 INC IMRLOC :STORE CLEAR FOR NEXT MASK BIT
6221 005376 005237 002446 INC IRRLOC $STORE SET FOR NEXT IRR BIT
6222 005402 005237 002444 INC ISRLOC :STORE CLEAR FOR NEXT ISR BIT
6223 OOSLOg oosgsr 002456 INC VECVAL SSETUP TO TEST NEXT VECTOR LEVEL
6224 005412 005337 002466 DEC LVLCNT :FINISHED LEVELS 0=7
6225 005416 00140 BEQ 138 $YES,CHECK BYTE COUNT END
6226 005420 000137 004666 JMP 1118 INO,DO NEXT LEVEL
6227 005424 005237 002472 138:  INC BYNUM S INDEX BYTE COUNT
6228 005430 104407 CKSWR :LOOK FOR SWITCH CHANGE REQUEST
6229 005432 022737 000400 002456 CMP #400, VECVAL :FINISHED ALL BYTE COUNTS 0=3
6230 005440 00140 BEQ 148 SFINISHED TWO GROUPS?
gzzg 005442 000137 004620 JMP 1218 :fgv?f’s" oe;tt COUNT FOR
6233 005446 005337 002462 148:  DEC GRPCNT :FINISHED TWO GROUPS?
6234 005452 001406 BEQ 1ST4 ::BR IF DONE
6235 005454 013700 002422 MOV DRCSC,RO :CSRC = CONTROL GROUP
6236 005460 013701 002426 MOV DRCSD . R1 SCSRD = DATA  GROUP
6237 005464 000137 004600 JMP 1208 :00 GROUP 2 FOR BYTE COUNTS 0-3
gg;g SAND LEVELS 0=7 FOR EACH BYTE COUNT.
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CNDRDA.P11  10-DEC-82 14:44 T3 TEST VECTOR ADDR MEM,LEV 0=7,BY0-3,(204=1774),GRPS 1,2 SEQ 0020
6240
6241 PN RN RN R PR R AR AR AR AR AR RN TR AT R AR ORR TS
(3) SATEST & TEST VECTOR ADDR MEM,LVLS 0=7,BY0=3, (0=200)GRPS 1,2
(3) e 222333233323 223333233233 233 2332233332333 333323323233 333232322332333232333%.
gg; 005470 000004 TST4:  SCOPE
6242 005472 013700 (02412 MOV DRCSA,RO
6243 005476 013701 002416 MOV DRCSB.R1
6244 005502 013702 002412 MOV DRCSA,R2
6245 005506 012737 000002 002462 MOV #2,GRPCNT :D0 TWO GROUPS
6246 005514 012737 000001 002472 1208: MOV #1.BYNUM :INIT FOR FIRST BYTE COUNT
6247 005522 004537 010746 JSR RS,CLRCSR ;CLEAR ALL CSRS
6248 005526 012737 000340 002456 MOV #PVMA,VECVAL  :START VECTOR LEVEL 0,BYTE COUNT 0
6249 005534 012704 012570 1218: MOV #BGCHP3, R4 : ISR, IMR PATTERN
6250 005540 012737 000010 002466 MOV #8. ,LVLCNT ;START LEVEL COUNT 0-7
6251 005546 012737 000050 002442 MOV #CSIMR,IMRLOC  :STORE CLEAR SINGLE IMR BIT CODE
6252 005554 012737 000130 002446 MOV #SSIRR,IRRLOC  :STORE SET SINGLE IRR BIT CODE
6253 005562 012737 005574 002110 MOV #1128, $LPERR  :LOOP RETURN
6254 005570 005037 002452 17118$: CLR VECLOC :START AT VECTOR 0
6255 0055764 106427 000300 1128: MIPS  #300 : VER:0
6256 005600 012706 002100 MOV #2100, SP sINIT STACK IN CASE OF ILLEGAL INT. LOOP
6257 005606 042712 001000 BIC #BIT9. (R2) :CLEAR INTERRUPT ENABLE
6258 005610 004537 011026 JSR RS,CLRIRR ;CLEAR IRR REGS
6259 005614 112712 000241 MOVB  #241,(R2) :USED IN TEST OF GROUP 2
6260 *ARM GROUP 1 CHIP TO PASS
6261 :ENABLE TO GROUP 2.
6262 005620 013703 002452 MOV VECLOC,R3 *GET VECTOR
2563 005624 004537 011756 JSR RS,CAT200 :STORE TRAP CATCHER FOR 0-200
005630 010337 002454 MOV R3,VECPAT
6265 005634 006037 002454 ROR VECPAT ;ROTATE VECTOR ADDR TWO RIGHT
6266 005640 006037 002454 ROR VECPAT :TO WRITE VECTOR MEM ADDR.
6267 005644 012713 012056 MOV #INTSR3,(R3)  :STORE VECTOR ROUTINE
6268 005650 012763 000300 000002 MOV #300,2(R3) *STORE PSW:VER:0
6269 005656 005037 oog«so CLR INTFLG :CLEAR INT. FLAg
6270 00 013737 002472 002470 MOV BYNUM,BYCNT *BYTE COUNT OF 0 TO 3
6271 :FOR 1 TO 4 VECTORS.
6272 005670 113710 002456 MOVB  VECVAL,(RO) :PRESELECT VECTOR MEM ADDR
6273 005676 113711 002454 1138: MOVB  VECPAT,(R1) :WRITE VECTOR
6274 005700 005337 002470 DEC BYCNT :D0 1 TO 4 VECTORS
6275 005704 001373 BNE 1138 :WRITE VECTORS BASED ON BYTE COUNT
6276 8857 010037 002122 MOV RO, $BDADR :SAVE BUS ADDRESS
6277 005712 112710 000060 MOVB  #SIMR, (RO) :SET ALL IMR BITS
6278 005716 113710 002442 MOVB 1naboé.(a0) :CLEAR MASK ON SINGLE Bi?
6279 005722 106427 000000 MTPS  #PR
005726 112710 000241 MOVB  #241,(R0O) ;LMDS7 = ARM THE CHIP
6281 005732 005737 002436 ST INTFLG :CHECK FOR INTERRUPTS
6282 005736 001405 BEQ 18
6283 005740 004537 011326 JSR RS, FRMBUF ;RESTORE 0-202
84 005744 104011 ERROR 11 :ERROR, ILLEGAL INTERRUPT
6285 005746 004537 011756 JSR RS,CAT200 *RESTORE TRAP CATCHER
86 005752 005037 oosaso 18: CLR INTFLG SRESET INT. COUNTER
6287 0057 113719 002446 MOVB  IRRLOC, (RO) :SET SINGLE IRR BIT
88 0057 1064§ 000300 MIPS  #PR6  :VER:0
6289 005766 005737 002436 TST iurrac :CHECK FOR NO INTERRUPTS
90 005772 001405 . BEQ $
6291 0057764 004537 011326 JSR RS, FRMBUF :RESTORE 0-202
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CNDRDA.P11  10-DEC-82 14:44 TEST VECTOR ADDR MEM,LVLS 0-7,BY0-3,(0-200)GRPS 1,2 SEQ 0021
6292 000 104011 ERROR 11 ;ILLEGAL INTERRUPTS
6293 006002 004537 011756 JSR RS,CAT200 *RESTORE TRAP CATCHER
6296 006006 005037 002436 28: CLR INTFLG :CLEAR INT. COUNTER
6295 006012 106427 000000 MTPS  #PRO
006016 152722 000002 000001 BISB  #BIT1,1(R2) ;SET 1/E,EXPECT INTERRUPT
6297 006026 013737 002472 002124 MOV BYNUM.SGDDAT  :EXPECT NUMBER OF INTERRUPTS
6298 :EQUAL TO BYTE COUNT.
6299 006032 013737 002436 002126 MOV INTFLG,$SBODAT  :SHOULD HAVE NUMBER OF INTERRUPTS
6300 :EQUAL TO BYTE COUNT.
6301 006040 023737 002124 002126 CMP $GODAT,$BDDAT
6302 006046 001405 BEQ 3s
6303 006050 004537 011326 JSR RS, FRMBUF ;RESTORE 0-202
6306 006054 104012 ERROR 12 : INTERRUPT TEST ERROR
6305 006056 004537 011756 JSR RS,CAT200 :RESTORE TRAP CATCHER SUB
6306 006062 106427 000300 38: MTPS  #PR6  ;VER:0
6307 ooeosg 010137 002122 4$: MOV R1,$BDADR ;READY TO READ ISR REG.
6308 006072 005037 002126 CLR $BODAT :SET UP FOR BYTE READS
6309 006076 005037 002124 CLR $GDDAT :SET UP FOR BYTE EXPECTED
6310 006102 111437 002124 MOVB  (R4),SGDDAT SEXPECTED DATA
6311 006106 112710 000240 MOVB  #MISR, (RO) :LOAD MODE TO READ ISR
6312 006112 111137 002126 MOVE  (R1),$BDDAT
6313 006116 023737 002124 002126 CMP $GODAT,SBDDAT
6314 006124 001405 BEQ 13
6315 006126 004537 011326 JSR RS, FRMBUF ;RESTORE 0-200
6316 006132 104006 ERROR 6 :ISR ERROR
6317 006134 004537 011756 JSR RS,CAT200 *RESTORE TRAP CATCHER
6318 006140 116437 000001 002124 5$: MOVB  1(R4),SGODAT  :STORE EXPECTED
6319 006143 112719 803244 MOVEB  #MIMR.(RO) :LOAD MODE FOR IMR
6320 006152 111137 002126 MOVB  (R1),$BDDAT
6321 006156 023737 002124 002126 CMP $GDDAT, SBDDAT
6322 006164 001405 BEQ 63
6323 006166 004537 011326 JSR RS, FRMBUF ;RESTORE 0-202
6324 006172 104005 ERROR § :IMR ERROR
6325 006174 004537 011756 JSR RS,CAT200 :RESTORE CATCHER
6326 006220 005037 002124 68: CLR  SGODAT
6327 006204 112710 000250 MOVEB  #MIRR, (RO) :LOAD MODE BITS FOR IRR
6328 006210 111137 002126 MOVB  (R1),$BDDAT
6329 006214 023737 002124 002126 CMP $GDDAT,SBDDAT
230 006222 001405 BEQ 7%
6331 006224 004537 011326 JSR RS, FRMBUF ;RESTORE 0-202
6332 006230 104003 ERROR 3 :IRR ERROR
6333 006232 004537 011756 JSR RS,CAT200 *RESTORE TRAP CATCHER
6334 006236 005037 002124 78: CLR $GODAT
6335 006242 112710 000254 MOVB  #MACR, (RO)
6336 006246 111137 002126 MOVB  (R1),$BDDAT
6337 006252 023737 002124 002126 CMP $GDDAT,$SBDDAT
6328 006260 001405 BEQ 108
6339 006262 004537 011326 JSR RS, FRMBUF ;RESTORE 0-202
0341 006550 0045%F 011756 CSRO" 85 CAT200 I RESTORE TRAP CATCHER
6342 006274 oosgsr 2124 108: CLR $GODAT
6343 006 115 10 160 MOVB  #CISR, (RO) ;CLEAR ISR
6344 006304 112710 000240 MOVE  #MISR.(RO) :LOAD MODE TO READ ISR
6345 006310 111157 002126 MOVE  (R1),£BDDAT
6349 006314 023737 002124 002126 CMP $GDDAT, $SBDDAT
6347 006322 001405 BEQ 1%
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6348 006324 004537 011326 JSR RS, FRMBUF ;RESTORE 0-202

6349 006330 104 ERROR 6 ;ISR REG ERROR

635 006332 011756 JSR RS,CAT200 SRESTORE TRAP CATCHER

6351 006336 004537 011714 118:  JSR RS .RES200 *RESTORE VECTOR JUST TESTED

6352 006342 004537 011326 JSR RS . FRMBUF *RESTORE 0-200 TO SYSMAC CONTROL

6353 006346 022737 000204 002452 CMP 0264 VECLOC *FINISHED?

6354 006354 001402 BEQ

6355 006356 000137 005574 JMP 11zs :TEST NEXT VECTOR ADDR

6356 006 005724 128:  TST (R4)+ s INDEX EXPECTED ISR AND IMR PATTERN

6357 006364 mgr 002442 INC IMRLOC :STORE CLEAR NEXT IMR BIT

6358 006370 005237 002446 INC IRRLOC *STORE SET NEXT IRR BIT

6359 006374 005237 002456 INC VECVAL :SETUP TO TEST NEXT VECTOR LEVEL

6360 006400 005337 002466 DEC LVLCNT :FINISHED LEVELS 0-7?

6361 006404 001402 BEQ 138 SYES,CHECK BYTE COUNT END

6362 006406 000137 005570 JMP 1118 :NO,DO NEXT LEVEL,SAME BYTE COUNT

6363 006412 005237 002472 138:  INC BYNUM :INDEX BYTE COUNT

6364 006416 104407 CKSWR :LOOK FOR SWITCH CHANGE

6365 006420 022737 000400 002456 CMP #400, VECVAL :FINISHED ALL FOUR BYTE COUNTS

6366 006426 001402 BEQ 148 YES,FINISHED GROUP

ggg; 006430 000137 005534 JMP 1218 .Leﬁgo N xr BYTE COUNT WITH

6369 006434 005337 002462 148:  DEC GRPCNT .nmwwamumwp1momwpv

6370 006440 001406 BEQ 15 :YES,BOTH GROUPS TESTED

6371 006442 013700 002422 MOV DRCSC,RO :NO, TEST GROUP 2

6372 :CSRC = CONTROL GROUP 2

6373 006446 013701 002426 MOV DRCSD,R1 :CSRD = DATA  GROUP

6374 006452 000137 005514 JMP 1208 :RETURN AND TEST GROUP

6375 :FOR avrS.;ouurs 0-3 AND

6376 *LEVELS FOR EACH BYTE COUNT.

g;;; 006456 004537 011326 15$:  JSR RS, FRMBUF :RESTORE 0-202,EXIT TEST

6379

6380 ttttttttttttttttQ'"tQtittttttt'ttt.ttttttttt'iﬁ'tﬁttlttttttt't
(3) ETEST § TEST VECTOR ADDR UNIQUENESS IN FIXED MODE FOR GRPS 1,2
(3) SRR ARRARAAAAARARE AR R R RN RRARANRAAAAAAAARAAAAREARRSRARCARNRESY
gg; 006462 000004 t815:  SCOPE

6381 :BYTE COUNT = &

6382 v :LEVELS = 0-7

6383 006464 004537 010746 JSR RS,CLRCSR :CLEAR ALL CSRS

6384 006470 004537 011226 JSR R5.CLRBF :CLEAR VECTOR BUFFER AREA

6385 006474 004537 011456 JSR RS TRPCAT *RESTORE TRAP carcug

6386 006500 004537 011232 JSR R5.STRVEC :STORE VECTOR AREA 300-674

6387 :WITH INT. SERV ROUTINES

6388 006504 012737 000377 002456 MOV 0377 VECVAL :VECTOR MEM FINAL VALUE

6389 006512 004537 011o§6 JSR CLRIRR :CLEAR IRR REGS

6390 006516 0127 8170 0 MOV 0v6ur R4 :VECTOR ADDRESS BUFFER

g;gl 006522 004537 011064 JSR RS,VECFIL '{%h 355}335 38327'0' GROUPS 1,2

6393 006526 otgros 0151‘ MOV #SETVEC,RS RS POINTS TO COMMON HANDLER  ;:GPA

639 006532 013700 00241 MOV DRCSA, RO :GROUP CSR

6395 0065 015701 00242 MOV DRCSC.R1 :GROUP 2 CSR

6396 006542 013702 002416 MOV DRCSB, n

6397 00654 1srg 0024 MOV DRCSD.R

6398 006552 010037 0021 MOV RO, $BOADR :STORE BUS ADDRESS

6399 006556 112710 3 MOVB  #PACR, (RO) :PRESELECT GP1 ACR FOR WRITING
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TEST VECTOR ADDR UNIQUENESS IN FIXED MODE FOR GRPS 1,2 SEQ 0023
6400 006562 112712 000377 MOVB  #377,(R2) ;SET ALL ACR BITS GP1
6401 oosseg 112710 000040 MOVB  #CIMR, (RO) :CLEAR ALL IMR BITS GP1
6402 006572 005037 002436 CLR INTFLG :CLEAR INT. FLAG

6403 006576 106427 000000 MTPS  #PRO

6406 006602 112710 000120 MOVB  #SIRR, (RO) :SET ALL IRR BITS

6405 oooaos 112710 000241 MOVB lgkl.(RO) :LMD57 = ARM THE CHIP
6406 00661 1064%7 000300 MTPS  #300 :VER:0

6407 006616 005737 002436 ST INTFLG :CHECK FOR NO INTERRUPTS
6408 006622 001401 BEQ 1$

6409 006624 104011 ERROR 11 ; ILLEGAL INTERRUPT

6410 ooeogs 005037 002436 18:) CLR INTFLG

6411 006632 112711 000300 MOVB  #PACR, (R1) ;PRESELECT GROUP2 FOR WRITING
6412 006636 112713 000377 , . MOVB  #377,(R3) :ALL ACR BITS SET GP2
6413 006642 112711 000040 MOVB  #CIMR, (R1) ‘CLEAR ALL IMR BITS GP2
6414 006646 106427 000000 MTPS  #PRO

6415 006652 112711 000120 MOVB  #SIRR,(R1) :SET ALL IRR BITS

6416 006656 112711 000241 MOVB  #241,(R1) :LMDS7 = ARM THE CHIP
6417 006662 106427 000300 MTPS  #PR6  :VER:0

6418 006666 005737 002436 ST INTFLG :CHECK FOR NO INTERRUPTS
6419 006672 001401 BEQ 28

6420 006674 104011 ERROR 11 ;ILLEGAL INTERRUPT

6421 006676 005037 002436 28: CLR INTFLG

6422 006702 106427 000000 MTPS  #PRO

6423 006706 152760 000002 000001 BISB  #BIT1,1(RO) ;SET INT. ENABLE,EXPECT INTERRUPTS
6424 006714 012737 000100 002124 MOV #64. ,$GDDAT SEXPECT 64 INTERRUPTS
6425 006722 013737 002436 002126 MOV INTFLG,$BDDAT  :SHOULD HAVE 64 INTERRUPTS
6426 006730 1064;7 000300 MTPS  #PR6  ;VER:0

6427 006734 023737 002124 002126 CMP sgooat.saoonr

6428 006742 001401 BEQ 3

6429 006744 104012 ERROR 12 : INTERRUPT TEST ERROR
6430 006746 012737 101710 002124 38: MOV #101710,$GDDAT  :RDY,DIR,I/E,CHIP = 31X
6431 006754 010037 002122 MOV RO, $BDADR :CSRA

643% 006760 011037 002126 MOV (RO), SBODAT

6433 006764 042737 000007 002126 BIC #7,$BDDAT ;CLEAR UNDEF INED BITS
6434 006772 023737 002124 002126 CMP $GDDAT,$BDDAT

6435 007000 001401 BEQ (s

6436 007002 1oaoo; ERROR 2 :CSRA REG ERROR

6437 007006 012737 000310 002124 4$: MOV #310, SGDDAT :STORE EXPECTED

6438 007012 010137 002122 MOV R1,$BDADR :CSRC

840 D070hs Gadrir 00500 002126 R T b R S
6441 007030 025737 002126 002126 CMP $GODAT,$BDDAT

6442 007036 001401 BEQ 13

6443 007040 104002 ERROR 2 :CSRC ERROR

644t 007042 010237 002122 58: MOV R2,$BDADR :CSRB ADDRESS

6445 007046 005037 0051 3 CLR $BODAT

6446 007052 005037 002124 CLR $GDDAT

6447 007056 112710 000240 MOVB  #MISR, (RO) ;READ ISR

6448 007 111;;7 002126 MOVB  (R2),$BDDAT

6449 007 023737 002124 002126 CMP $GODAT,SBDODAT

6450 007074 001401 BEQ &%

6451 007076 104 ERROR 6 ;ISR ERROR,GP1

645§ 007100 112710 000244 68: MOVB  #MIMR, (RO) *MODE BITS FOR IMR

6453 007104 111;; 335' 6 MOVB  (R2),$BDDAT

6454 007110 353 7 126 002126 CMP $GODAT, SBODAT

6455 007116 001401 BEQ 7
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TEST VECTOR ADDR UNIQUENESS IN FIXED MODE FOR GRPS 1,2 SEQ 0024
6456 007120 104005 ERROR § :IMR ERROR,GP1
6457 007122 112710 000250 78: MOVB  #MIRR,(RO) *MODE BITS FOR IRR
6458 007126 111237 002126 MOVB  (R2),$BDDAT
6459 007132 023737 002124 002126 CMP $GDDAT, SBDDAT
6460 007120 001401 BEQ 108
6461 007142 104003 ERROR 3 :IRR ERROR
6462 007144 012737 000377 002124 108: MOV ¥377,$GDDAT SEXPECTED ACR
6463 007152 112710 000254 MOVB  #MACR, (RO) *READ ACR
6464 007156 111237 002126 MOVB  (R2),$BDDAT
6465 007162 023737 002124 002126 CMP $GDDAT,$BDDAT
6466 007170 001401 BEQ 118
6467 007172 104004 ERROR & ;ACR ERROR
6468 007174 005037 002124 11$: (LR $GDDAT
6469 007200 005037 002126 CLR $BDDAT
6470 007204 010337 002122 MOV Rk3,$BDADR ;CSRD ADDRESS
6471 007210 112711 000240 MOVB  #MISR, (R1) :READ ISR ,GP2
6472 007214 111337 002126 MOVB  (R3),$BDDAT
6473 007220 023737 002124 002126 CMP $GDDAT, SBDDAT
6474 007226 001401 BEQ 128
6475 007230 104006 ERROR 6 ;ISR ERROR,GP1
6476 007232 112711 000244 128:  MOVB  #MIMR,(R1) :READ IMR GP2
6477 007236 111337 002126 MOVB  (R3),$BDDAT
6478 007242 023737 002124 002126 CMP $GDDAT, SBODAT
6479 007250 001401 EQ 138
g:g? 007252 104005 ERROR 5 :IMR ERROR,GP2
6482 007254 112711 000250 138: MOVB  #MIRR,(R1) ;READ IRR
6483 007260 1113;7 00 156 MOVEB  (R3),$BDDAT
007264 023737 002124 002126 CMP SGDDAT, SBDDAT
6485 007272 001401 BEQ 148
6486 007274 104003 ERROR 3 ;IRR ERROR,GP2
6487 007276 112711 000254 14$:  MOVB  #MACR, (R1) *READ ACR
6438 007302 012737 000377 002124 MOV #377,$GDDAT
6489 007310 111337 002126 MOVB  (R3).$BDDAT
6490 007314 023737 002124 002126 CMP $GDDAT, SBODAT
6491 007322 001401 BEQ 15$
6492 007324 104004 ERROR & ;ACR ERROR,GP2
6493 007326 012702 000100 158: MOV #64. R2
6494 007332 012704 017030 MOV #VBUF , R4 ;VECTOR BUFFER
6495 007336 012737 000300 002124 MOV #300, $GDDAT :START WITH FIRST VECTOR 300
6496 007344 010437 002122 168: MOV R& , SBDADR *VECTOR BUFFER ADDRESS
6497 007350 011437 002126 MOV (R4) , $SBDDAT
6498 007354 023737 002124 002126 CMP sgoont.:aooar
6499 007362 001401 BEQ 17 ;VECTORED PROPERLY
6500 007364 104007 ERROR 7 :VECTOR ADDR MEM ERROR
6501 007366 062737 000004 002124 178:  ADD #4,8GDDAT
6502 007374 005737 017302 ST KXTFLAG : KXT11 22 ::GPA
6503 007400 001407 BEQ 1000$ : BR IF NOT : GPA
6504 007402 023727 002126 000400 CMP sgooAt.cAOO : YES, REACHED VECTOR 400 2?  ::GPA
6505 007410 103493 BLO 1000% : NOT YET, CONTINUE ::GPA
gggg ;25 012737 000300 002124 e MOV #300, $GDDAT : YES, RESET EXPECTED TO 300 ::g;:
6508 007420 062704 000002 ADD cg.n« :NEXT BUFFER ADDRESS
6509 007424 885302 DEC R :COMPLETED 64 BUFFER CHECKS?
6510 007426 001346 BNE 168 :CHECK NEXT VECTOR BUFFER LOCATION

6511 :THAT WAS STORED BY THE INTERRUPT
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TEST VECTOR ADDR UNIQUENESS lN FIXED MODE FOR GRPS 1,2

+SERVICE ROUTINES.

shtRtRRAAAARRAAACRERRORCCORERRONOARAARANAARARARAAARRRO AR PR dd

tTEST 6

té16:

1$:

2%:

100$:

SCOPE

JSR
JSR
JSR
JSR

MOV
JSR
MOV
JSR

TEST VECTOR ADDR UNIQUENESS IN ROTATING MODE FOR GRPS 1,2

SRR AR AR AR A AR AR AR AR R AR AR AR AR AR AA AR AR AR AR

R5,CLRCSR
R5.CLRBF

RS, TRPCAT
RS,STRVEC

#377 ,VECVAL
R5,CLRIRR
#VBUF , R4
RS,VECFIL

#SETVEC R
DRCSA, nb
DRCSC.R1
DRCSB.R
DRCSD.R
RO, $BOADR
#8. ,LVLSAV
#201, (RO)
#CIMR, (RO)
INTFLG
#PRO
#SIRR, (RO)
#241, (RO)
#300°
INTFLG

18

1
INTFLG

#201, (R1)
ccxni (R1)

OSIRR (R1)
#241,(R1)
#PR6’
lgTF LG

2
n
INTFLG

PRO
03111 1(RO)
#4,SGODAT

INTFLG, $SBDDAT
#PR6  :VER:0
scggAr LSBDDAT

1
#CHPISR, (RO)

JVER:0

;BYTE COUNT = &
;LEVELS = 0-7
:CLEAR ALL CSRS
;CLEAR VECTOR BUFFER AREA
:RESTORE TRAP CATCHER
:STORE VECTOR AREA 300-674
;WITH INT. SERV ROUTINES
;VECTOR MEM FINAL VALUE
:CLEAR IRR REGS
sVECTOR ADDRESS BUFFER
:FILL VECTOR MEMORY FOR GROUPS 1,2
'HITH VECTORS 300-674
: RS POINTS TO COMMON HANDLER. ;:GPA
:GROUP 1 CSR

;GROUP 2 CSR

:STORE _BUS ADDRESS
:COUNTER FOR 7 LEVELS
:ROTATING PRIORITY GROUP 1
;CLEAR ALL IMR BITS GP1
:CLEAR INT. FLAG

;SET ALL IRR BITS
.LHDS? = ARM THE CHIP

R:0
.CNECK FOR NO INTERRUPTS
s ILLEGAL INTERRUPT

sROTATING PRIORITY FOR GROUP 2
sCLEAR ALL IMR BITS GP2

sSET ALL IRR BITS . .
:LMD57 = ARM THE CHIP

sCHECK FOR NO INTERRUPTS

s ILLEGAL INTERRUPT

sSET _INT, ENABLE.EXPECT INTERRUPTS
:EXPECT 4 INTERRUPTS
:SHOULD HAVE 4 INTERRUPTS

s INTERRUP

T TEST ERROR
:CLEAR HIGHEST PRIORITY ISR

SEQ 0025
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'CNDRDA.P11  10-DEC~B2 14:44 TEST VECTOR ADDR UNIQUENESS IN ROTATING MODE FOR GRPS 1,2 SEQ 0026
|
| 65664 007716 112710 000120 MOVEB  #SIRR, (RO) ;SET ALL IRR BITS
| 6565 007722 005337 002474 DEC LVLSAV :DONE 8 LEVELS,GROUP 1
| 6566 007726 001345 BNE 2$ :DO NEXT LEVEL IN ROTATION
| 6567 007730 112710 000100 MOVEB  #CIRR, (RO) :CLEAR IRR BITS GROUP 1
| 6568 007734 012737 000010 002474 MOV #8. ,LULSAV :D0 8 LEVELS,GROUP 2
6569 007742 005037 002436 1018:  CLR INTFLG :CLEAR INT FLAG
6570 007746 106427 000000 MTPS  #PRO
6571 007752 012737 000004 002124 MOV #4 ,$GDDAT
6572 007760 013737 002436 002126 MOV INTFLG,SBDDAT  ;SHOULD HAVE FOUR INTERRUPTS
6573 007766 106427 000300 MTPS  #PR6  ;VER:0
6574 007772 023737 002124 002126 CMP $GDDAT,$SBDDAT
6575 010000 001401 BEQ 1028
6576 010002 104012 ERROR 12 : INTERRUPT TEST ERROR
6577 010006 112711 000140 1028: MOVB  #CHPISR,(R1)  :CLEAR HIGHEST PRIORITY ISR
6578 010010 112711 000120 MOovVB #SIRR, (R1) :SET ALL IRR BITS
6579 010014 005337 002474 DEC LVLSAV :DONE 8 LEVELS?
6580 010020 001350 BNE 1018 :DO NEXT LEVEL IN ROTATION,GP2
6581 010022 112711 000100 MOvVB #CIRR,(R1) :CLEAR IRR BITS,GROUP 2
6582 010026 012737 101750 002124 3$: MOV #101750, $GDDAT :RDY,DIR,I/E,CHIP = 35X
6583 01003¢ 010037 002122 MOV RO, $BDADR : CSRA
6584 010040 011037 002126 MOV (RO, $SBDDAT
6585 010044 042737 000007 002126 BIC #7,$BDDAT ;CLEAR UNDEF INED BITS
6586 010052 023737 002124 002126 CMP $GODAT,$BDDAT
6587 010060 001401 48
6588 010062 104002 ERROR 2 ;CSRA REG ERROR
6589 010064 012737 000350 002124 4$: MOV #350,$GDDAT :STORE EXPECTED
6590 010072 010137 002122 MOV R1,$BDADR :CSRC
6591 010076 011137 00212 MOV (R1),$BODAT ;
6592 010102 042737 000007 002126 BIC #7.$8DDAT :CLEAR UNDEFINED BITS
6593 010110 023737 002124 002126 CMP $GODAT,$SBDDAT
6594 010116 001401 BEQ 5$
6595 010120 104002 ERROR 2 JCSRC ERROR
6596 010122 010237 002122 5%: MOV R2,$BDADR :CSRB ADDRESS
6597 010126 005037 002126 CLR $BODAT
6598 010132 005037 002124 CLR $GDDAT
6599 010136 112710 000240 MOVB  #MISR.(RO) :READ ISR
6600 010122 111237 002126 MOVB  (R2),$BDDAT
6601 010146 023737 002124 002126 CMP $GDDAT, $BDDAT
6602 010154 001401 BEQ 8%
6603 010156 104006 ERROR 6 ;ISR ERROR,GP1
6604 010160 112710 000244 68: MOVB  #MIMR, (RO) ‘MODE BITS FOR IMR
6605 010164 111237 002126 MOVB  (R2),$BDDAT
6606 010170 023737 002124 002126 CMP $GDDAT,$SBDDAT
6607 010176 001401 BEQ 78
6608 010200 104005 ERROR § :IMR ERROR,GP1
6609 010202 112710 000250 78: MOVB  #MIRR, (RO) *MODE BITS FOR IRR
6610 010206 111237 002126 MOVB  (R2),$BDDAT
6611 010212 023737 002124 002126 CMP $GDDAT,$SBDDAT
6612 010220 001401 BEQ 108
6613 010222 104003 ERROR 3 JIRR ERROR
6614 010226 112710 000254 108: MOVB  #MACR, (RO) *READ ACR
6615 010230 111237 002126 MOVB  (R2),$BDDAT
6616 010234 023737 002124 002126 CMP $GDDAT, $BDDAT
6617 010242 001401 BEQ 1%
6618 010244 104004 ERROR 4 ;:ACR ERROR
6619 010246 010337 002122 118: MOV R3,$BDADR :CSRD ADDRESS
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CNDRDA.P11  10-DEC-82 14:44 6 TEST VECTOR ADDR UNIQUENESS IN ROTATING MODE FOR GKPS 1,2 SEQ 0027 |
be 18552 112711 000240 MOVB  #MISR, (R1) ;READ ISR ,GP2
1 01025 111;27 005156 MOVB  (R3),$BDDAT
2 g 10 023737 002124 002126 CMP ’gooit.seoont
66 10 1401 BEQ $
6624 01007 10«00? ERROR 6 : ISR ERROR,GP1
S 010274 112711 000244 128: MOVB  #MIMR, (R1) :READ IMR GP2
10300 111327 88;156 MOVB  (R3),$BDDAT
66 10304 8537 7 126 002126 CMP sgoo&r.sanonr
6628 810 12 001401 BEQ 138
gg 9 010314 104005 ERROR S ;IMR ERROR,GP2
6631 010313 112711 000250 13:  MOVB  #MIRR, (R1) ;READ IRR
6632 0103 1113;7 8851 6 MOVB  (R3),$BDDAT
6633 010326 8537 7 126 002126 CMP $GDDAT,$BDDAT |
6636 0103 1401 BEQ 148 |
6635 8103 104003 ERROR 3 ;: IRR ERROR,GP2 |
6639 1032 112711 000254 14$:  MOVB  #MACR, (R1) :READ ACR
6637 010344 111337 002126 MOVB  (R3),$BDDAT
6638 010350 023737 002124 002126 CMP sgoont.ssoont
6639 010356 001401 BEQ 2008
6640 01o§23 104004 ERROR & ;ACR ERROR,GP2
6641 010 105010 200$: CLRB  (RO) ;INIT GROUP 1 MODE BITS
6642 010364 105011 CLRB  (R1) :INIT GROUP 2 MODE BITS
6643 010366 012737 101700 002124 MOV #101700,8GODAT :EXPECTED CSRA
6644 010374 010037 oostsz MOV RO, $BDADR :CSRA
6645 010400 011037 0021 MOV (RO) , SBDDAT
6646 010404 062737 002126 BIC #7,8B0DAT :CLEAR UNDEF INED BITS
664 818215 737 002124 002126 CMP 860At.saooAr
6648 01 1401 BEQ 1%
6649 010622 1 og; ERROR ;CSRA REG ERROR
6650 010424 8127 000200 002124 201$: MOV #200,8GDDAT :STORE EXPECTED
6651 0104 10137 0051 2 MOV R1,$BDADR : CSRC
£65 o1oasg 011137 0021 MOV (R1),$BDDAT :
6653 01044 o&;r 7 00000 0031%6 BIC #7,$BDDAT :CLEAR UNDEF INED SITS
6654 010450 023737 002124 002126 CMP SgbbAt.tBODAT
6655 010456 001401 BEQ 158
6659 010460 104005 ERROR 2 ;CSRC ERROR
6657 010462 01270 800100 158: MOV #64 . ,R2
6658 10463 0127 17030 MOV avggf R :VECTOR BUFFER
6659 01047 31 737 302 002124 MOV #300, $GDDAT :START WITH FIRST VECTOR 300 .
6660 010500 010437 0021 168: MOV R4, $BDADR *VECTOR BUFFER ADDRESS
6661 010504 311437- 002126 MOV (R4),SBDDAT :
10510 023737 002124 002126 CMP s;oont.scoout
ébég 10516 001401 BEQ 178 :VECTORED PROPERLY
6664 3105 104007 ERROR 7 :VECTOR ADDR MEM ERROR
6665 0105 7 002124 178:  ADD #4,3GDDAT
6669 105 737 819302 ST KX TFLAG : KXT11 22 : :GPA
6667 0105 1407 BEQ 10008 : BR IF NOT :3GPA
6668 010536 023727 002124 000400 CMP $GDDAT, #400 : YES, REACHED VECTOR 400 22  ::GPA
6669 010544 1034 ; BLO 1000$ : NOT YET, CONTINUE + :GPA
22;? oggggg 012737 000300 002124 e MOV #300,SGDDAT : YES, RESET EXPECTED TO 300 ::gg:
6672 010554 gro4 000002 ADD cg.n& :NEXT BUFFER ADDRESS -
667 81osgg 302 DEC R :COMPLETED 64 BUFFER CHECKS?
6674 0105 1346 BNE 168 :CHECK NEXT VECTOR BUFFER LOCATION
6675 :THAT WAS STORED BY THE INTERRUPT
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CNDRDA.P11  10-DEC=-82 14:44 16 TEST VECTOR ADDR UNIQUENESS IN ROTATING MODE FOR GRPS 1,2 SEQ 0028
6676 ;SERVICE ROUTINES.
8578
6679 :DON'T REPORT "END OF PASS® UNTIL ALL ssmecteo DRV11J'S HAVE BEEN TESTED.
6680 010594 013701 002412 NXDEV: MOV DRCSA,R1 JINIT TO SETUP DRV11J ADDRESS
6681 010570 000241 NXDEV1: CLC :CLEAR CARRY FOR DEVICE HAP
6682 010572 006037 002434 ROR DMAP :LOOK FOR NEXT DRV11J
6683 010576 001412 BEQ SEOP :BR IF ALL TESTED
6684 010600 162701 000020 SUB #20,R1 murmwusumsqommpmrmn
6685 010604 005237 002202 INC SUNIT :UPDAT UNIT
6686 010610 032737 000001 002434 BIT #1,DMAP ;1S UNIT sELecreoz
6687 010616 001764 BEQ NXDEV1 :BR IF NOT
gggg 010620 000137 003132 JMP NEXPAS :TEST NEXT DRV11J
6??? .SBTTL END OF PASS ROUTINE
(2) tttttttﬁtttttt.tttttttttttttttttttttttttttttttttttttttttttttttt
(1 “SINCREMENT THE PASS NUMBER (SPASS)
(1) s«TYPE "END PASS #XXXXX'' (WHERE XXXXX IS A DECIMAL NUMBER)
(1) tlF THERES A HONITOR GO TO IT
g}; :#]F THERE ISN'T JUMP TO START1
(1) 010624 $EOP:
(2) 010624 000240 NOP
(1) 010626 005037 002102 CLR $STSTNM ::2ERO THE TEST NUMBER
(1) 010632 005037 (02160 CLR STIMES :3ZERO_THE NUMBER OF ITERATIONS
(1) 010636 005237 002176 INC $PASS :: INCREMENT THE PASS NUMBER
(1) 81064.5 83§737 100000 002176 BIC #100000,8PASS  ::DON'T ALLOW A NEG. NUMBER
(1) 01065 327 DEC (PC) ¢+ ::L00P?
(1) 010652 1 $EOPCT: .WORD 1
(1) 010654 30;; BGT $DOAGN ::YES
(1) 010656 0127 MOV (PC)+,8(PC)+  ::RESTORE COUNTER
(1) 010660 1 SENDCT: .WORD 1
(1) 010662 010652 $EOPCT
(1) 010664 104401 010731 TYPE SENDMG ;TYPE “END PASS #'*
(2) 010670 013746 002176 MOV $PASS, = (SP) SISAVE SPASS FOR TYPEOUT
(2) 010674 104405 TYPDS ”mmwmmumumnm
(1) 010676 104401 010726 TYPE SENUL :3TYPE A NULL CHARACTER
(1) 010702 013700 000042 $GET42: MOV 62 R ::GET MONITOR ADDRESS
(1) 010706 001405 BEQ $DOAGN $3BRANCH IF NO MONITOR
(1) 010710 000005 RESET :3CLEAR THE WORLD
(1) 010712 004710 $ENDAD: JSR PC., (RO) ::G0 TO MONITOR
(1) 010714 000240 NOP : SAVE ROOM
(1) 010716 000240 NOP : SFOR
(1) 010720 000240 NOP SIACTI
u:owgg $DOAGN:
(1) 0107 137 JMP A(PC)+ ; :RETURN
m 0107264 003066 SRTNAD: .WORD START1
(1)
(1) 010726 377 377 000 SENULL: .BYTE =1,- g .NULL CHARACTER STRING
(1) 010731 015 3‘2"2 045112 SENDMG: .ASCIZ 5><1 >/END PASS’#
(1) 010736 050049 §1501 02012
(1) 010744 00004
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'CNDRDA.P11 ~ 10-DEC=82 14:44 PROGRAM SUBROUTINES SEQ 0029
669 .SBTTL PROGRAM SUBROUTINES
4
6695 38 2332223233 233 233 2323223320322 2 22 2233333232333 3322223223322 2322 2]
6696 :CLEAR ALL CONTROL/STATUS REGISTERS
6697 . : 222 23233133 3 2 2322232232222 222232323 23332 3223232233232 3 2222220 ]
6698 010746 010046 CLRCSR: MOV RO,=(SP) :SAVE RO
6699 010750 106427 000300 MTPS  #PR6  :VER:0 :PSW = 300
6700 010754 012737 000340 oosas MOV #PVMA,VECVAL  :INIT VECTOR ADDR MEM = 340
6701 010762 012737 000300 00245 MOV #300,VECLOC :INIT VECTOR ADDR TO 300
6702 010770 013700 002412 MOV DRCSA,RO :START OF CSR ADDRESS
6703 010774 005037 002124 CLR $GODAT :CLEAR EXPECTED
6704 011000 005037 002126 CLR $BDDAT :CLEAR REC'D
6705 011004 005010 CLR (RO) :CLEAR CSRA:CHIP RESET GROUP 1
6706 011006 105 000005 CLRB  S(RO) :CLEAR HIGH BYTE CSRB
6707 011012 005060 000010 CLR 10(R0) :CLEAR CSRC:CHIP RESET GROUP 2
6708 011016 105060 000015 CLRB  15(RO) :CLEAR HIGH BYTE CSRD
6709 011022 012600 MOV (SP)+,RO :RETURN RO
6710 011024 000205 RTS RS
4N
6713 ;CLEAR IRR REGISTERS,GROUP 1,GROUP 2 WITH CHIP RESET
6714 011026 010046 CLRIRR: MOV RO,=(SP)
6715 011030 013700 002412 MOV DRCSA,RO ;START OF CSR ADDRESS
67216 011036 105060 000011 CLRB  11(RO) :CSRC TO INPUT MODE
6717 011040 112760 000001 000001 MOVE  #BITO,1(RO) :CSRA TO OUTPUT MODE
6718 011046 005060 000002 CLR 2(R0) :CLEAR DBRA
6719 811052 1 5823 CLRB  (RO) :CHIP RESET OF GROUP1
6720 011054 105 000010 CLRB  10(RO) :CHIP RESET OF GROUP 2
6721 011060 012600 MOV (SP)+,R0 *RESTORE REGISTER
g;gg 011062 000205 RTS RS SEXIT
6724 ;ROUTINE TO FILL VECTOR MEMORY FOR VECTOR UNIQUENESS TEST
6725 300474 GROUP 1
6726 :500-674 GROUP 2
6727 011064 013700 002412 VECFIL: MOV DRCSA,RO ;START GROUP 1
6728 011070 013701 2«13 MOV DRCSB.R1
6729 011076 01 7o; MOV #2.R ;TWO GROUPS
6730 011100 01273 oooogo 002454 MOV #60, VECPAT SVECTOR START 300
6731 011106 012737 370 002456 1%: MOV #370,VECVAL :START VECTOR LEVEL 0.BY4
6732 011114 015737 10 002466 MOV #8. ,LVLCNT :LEVELS 0=7
6733 011122 113710 002456 28: MOV8  VECVAL, (RO)
673 011126 o1§73 002470 MOV #4 BYCNT :D0 FOUR BYTE COUNTS
6735 011134 113711 454 3s: MOVB  VECPAT,(R1) :WRITE VECTOR
6736 011140 oos;sr 80 454 INC VECPAT :SETUP FOR NEXT VECTOR
6737 011144 005737 017302 TSt KXTFLAG $TRXT11 22 : :GPA
6738 011150 001407 BEQ 10008 : BR IF NOT : :GPA
6739 011152 023727 002454 000100 CMP VECPAT,#100 : YES, REACED VECTOR 400 2? ::GPA
6740 011160 1034 ; BLO 10008 : NOT YET, CONTINUE ::GPA
6741 011162 012737 000060 002454 MOV #60,VECPAT : YES, WRAP=AROUND TO 300 AGAIN ::GPA
674 : WE'LL END UP WITH 300-374... ::GPA
674 2...REPLICATED & TIMES. ::GPA
6744 011170 1C00$: s :GPA
6745 011170 005337 002470 DEC gvcut :DONE FOUR BYTE COUNTS?
6746 0111764 001357 BNE $ :DO NEXT VECTOR
6747 011176 005337 002466 4$: DEC LVLCNT :DONE ALL LEVELS IN GROUP?

— . ————————————— o — . m—— — e —



P em—m— s

CNDRDA DRV11J DIAG TST PRT?2

| CNDRDA..P11

3 6749

o

N

w
(=lelelelelelelela]
Qo Qo Yo unrd
b e e e o e o D e
S AN LSS S TN TN [N 1,8 )

o

~

o

W
OCO00O0 O000O
- el and o
- d b cd e b
OO OO
&S oo

o

N

»
000000
- b D e
b b o i ch

o

2
000000
— i lh e i
— b d e d
W W WWW

NN = i b

o
(elelelelelelelelelele)
end et rad =R amd ek B ) e D
D e T B R R

WNIN) = b 2 2 OO
ooNNON l‘NO?N

P28 BRSNS

Wi WA WN
EENREEE Qs
o000
N = =

6802 011
6803 011372

—— e ——— e e —— . - ——— — ——

10-DEC~82 14:44
00160;
005;3 002456
000744

002422
002426

000300
012170
000100
000300

000004

[=]lelelele]

- b e d

=N NDONNN
NOO

ON-‘g

S8
WS N=NYNN
N
o

ONOO
N =2\ =

700 017030
701 000100

701 016624
700 000204

016624
000204
002460 170562

gyt

000001 002210

MACY11 30(1046)

E 3
15-DEC-82 15:26 PAGE 58-16

PROGRAM SUBROUTINES

BEQ 5%
INC VECVAL :INC NEXT LEVEL
BR 28 :DO NEXT LEVEL
5%: DEC R2 *DONE 80TH GROUPS?
BEQ 6$ :DONE EXIT
MOV DRCSC,RO ‘D0 GROUP 2
MOV DRCSD.R1
BR 1%
68: RTS RS JEXIT
;ROUTINE TO STORE VECTOR AREA 300-674 WITH INTERRUPT SERVICE
STRVEC: MOV #300,R0 ;START AT VECTOR 300
MOV #INTO,R1 :FIRST SERVICE ROUTINE
MOV #64. ,R2 :STORE 64 SERVICE ROUTINES
18: MOV R1, (RO)+
MOV #300, (RO)+ :VER:0
::GPA  ADD #6,R1 ;SETUP FOR NEXT VECTOR STORAGE
ADD #6.R1 : SETUP NEXT VETOR,
DEC R2 :DONE WITH 64 VECTOR ROUTINES?
BNE 1$
RTS RS SEXIT
:ROUTINE TO CLEAR VECTOR BUFFER
CLRBF: MOV #VBUF ,RO :VECTOR BUFFER START
MOV #64. R
18: CLR (RO} +
DEC R1
BNE 1§
RTS R

;ROUTINE TO STORE 0-202 INTO BUFFER AREA TO ALLOW
%355}0R TESTS T0 0-200.

CLR
MOV
1$: MOV
, (MP
BNE
RTS

RO

#DBUF ,R1 :BUFFER START
(RO)+,(R1)+ sSTORE 0-202 INTO BUFFER
#204,R0 sFINISHED?

1% :NO

RS :RETURN

sSTORE BUFFER AREA INTO LOCATIONS 0-202
sAFTER VECTOR TESTS

FRMBUF : MOV

1$: MOV

;RESTORE VECTOR

RESTRP: CMP
BEQ

RO,=(SP) :SAVE RO

35’°(SP)

#DBUF ,R1 :BUFFER START

(R1)+.(RO)+ :STORE BUFFER INTO LOCS 0-202
1;04.60 :wnsm?

SWRSAV,aSWR :STORE LOCATION 176,SOFT SWR
(SP)+,R1 *RESTORE R1

(gp)o.ao *RESTORE RO

R *RETURN

JUST TESTED TO ORIGINAL TRAP FOR 204=1774
#1,8ENV sCHECK FOR APT
1% :YES ,BRANCH

GPA

SEQ 0030
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|CNDRDA.P11  10-DEC=82 1 PROGRAM SUBROUTINES SEQ 0031
6804 011374 032777 010000 170536 BIT csu1z asSwR ;CHECK TYPE OF TRAP RETURN
6805 011402 001412 BEQ 1 sRESTORE ILLEGAL VECTOR ROUTINE
6806 011406 062737 000002 002452 ADD #2,VECLOC ‘RESTORE TRAP
6807 011412 013723 002452 MOV VECLOC,(R3)+  :TO VECTOR
6808 011416 005013 CLR (R3) JRESTORE HALT
6809 011420 062737 000002 002452 ADD #2,VECLOC SSETUP FOR NEXT
6810 011426 00041§ B8R 28 sRETURN
6811 011430 012723 011704 108: MOV #TRPALL,(R3)+  :RESTORE ILLEGAL TRAP ROUTINE
6812 011434 ooo¢o§ BR 1% *RESTORE PSW
23}2 011436 012723 011666 18: MOV #TRPOUT, (R3) + gessgae ¢pr SUB TRAP
6815 011442 012713 000300 118: MOV #300, (R3) *RESTORE PSW SAVE :VER:0
6816 011446 062737 000004 002452 ADD #4,VECLOC uponre FOR NEXT VECTOR
gg}; 011454 000205 28: RTS RS :RETURN
6819 :ROUTINE TO SET UP TRAP CATCHER 204=1774 IN STANDALONE MODE OR
6820 A COMMON VECTOR ROUTINE SETUP UNDER APT.

6821 VECTOR ROUTINE IS USED ONLY IN AN APT ENVIRONMENT AND WILL STORE
gggg *A COMMON SUBROUTINE IN VECTOR AREA 204=1774.

6824 011456 010046 TRPCAT: MOV RO,=(SP) :SAVE RO

6825 011460 010146 MOV R1,=(SP)

6826 011462 022737 000001 002210 CMP #1,SENV :CHECK FOR APT

6827 011470 001426 BEQ APTVEC SYES.SET UP TRAPS FOR APT

6828 011472 012700 000204 MOV #204 ,RO *START CATCHER AT 204

6829 011476 023777 010000 170434 BIT #SW12,aSWR STEST IF SW12 IS SET

6830 011504 0¢.010 BNE 1% :YES.BR AND STORE REGULAR TRAP
23%} SATCH;R( .+2,HALT) IN LOCATIONS
6833 011506 012720 011704 118: MOV ITRPALL (RO)+  :NO,PLACE ILLEGAL VECTOR RETURN
683, 011512 012720 000300 MOV #300, (RO) + :ROUTINES IN LOCATIONS 204=1774;VER:0
6835 011516 022700 002000 CMP czoob RO *STORED ALL VECTORS?

6836 011522 001371 BNE

6837 011524 000421 BR euornp :RETURN AFTER VECTOR STORAGE
6838 011526 010001 18: MOV RO,R1 :DRV11J CAN VECTOR 0-1774

6839 011530 005721 ST (R1)+

6840 011532 010120 MOV R1,(RO)+

6841 011534 005020 CLR (RO) +

684§ 011536 022701 001776 CMP #1776.R1 ;CHECK FOR VECTOR END

6843 011542 001371 BNE 18

6844 011544 000411 B8R ENDTRP ;RETURN IN STAND ALONE MODE
6845 011545 012701 000204 APTVEC: MOV #204 ,R1 :STARTING VECTOR ADDRESS

6846 011552 012721 011666 18: MOV crnpour (R1)+  :ILL INTERRUPT ROUTINE

6847 011556 012721 000300 MOV #300, (R1)+ :PSW NEXT;VER:0

6848 011562 022701 002000 CMP czoob R1 :DONE?

6849 011566 001371 BNE DO NEXT VECTOR

6850 011570 012601 ENDTRP: MOV (SP)O R1

6851 011572 012600 MOV (SP)+.RO

23?5 011574 000205 RTS RS SEXIT

6854 : nrennurr SERVICE nourxue USED TO VERIFY INTERRUPTS 204=1774
6855 011576 oos;sr 002436 INTSR1: INC 1 FLG ;COUNT INTERRUPT

6859 ovroos 01§ 7 1 002124 MOV scooar :STORE EXPECTED

6857 011610 013737 oozigs 002126 MOV uerG $BODAT  :SAVE INT. COUNT

6858 011616 023737 002124 002126 CMP GDDAT.SBODAT  :SHOULD BE ONE INTERRUPT

6859 011624 001401 BEQ 1%

e e e e et e, - 2 . S
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CNDRDA.P11 ° 10-DEC-82 14:44 PROGRAM SUBROUTINES SEQ 0032
6860 0116%6 104013 ERROR 13 :MULTIPLE INTERRUPTS RECEIVED
6861 011630 000002 18: RTI ;RETURN FROM INT.
686§ ; INTERRUPT SERVICE ROUTINE USED TO VERIFY INTERRUPTS 204=1774
6864 :FOR A BYTE CGUNT OF 1 TO &4 VECTORS IN VECTOR ADDR MEMORY.
6865 011632 005237 002436 INTBY4: INC INTFLG ;COUNT INTERRUPT
6866 011636 013737 002472 005124 MOV BYNUM,SGODAT  :STORE EXPECTED
6867 011646 013737 002436 002126 MOV INTFLG,$SBDDAT  ;SAVE INT. COUNT
6868 011652 023737 002124 002126 CMP $SGDDAT.SBDDAT  : INTERRUPTS SHOULD NOT EXCEED BYTE COUNT
6869 011660 002001 BGE 18
6870 011662 104013 ERROR 13 :MULTIPLE INTERRUPTS RECEIVED
6871 *MORE INTERRUPTS THAN BYTE COUNT
gg;g 011664 000002 1$: RTI :RETURN FROM INT.

6874 COMMON ILLEGAL VECTOR RETURN ROUTINE FOR APT MODE.
6875 011666 011637 002120 TRPOUT: MOV (SP) ,$GDADR :SAVE ADDRESS OF TEST
6876 011672 004537 011326 JSR RS, FRMBUF SRETURN LOCATIONS 0-202
6877 011676 104014 ERROR 14 :ILLEGAL VECTOR ADDR MEM ERROR
6878 011700 000000 HALT :CANNOT CONT INUE
gg;g 011702 000000 HALT : CANNOT CONT INUE
6881 ;COMMON ILLEGAL VECTOR RETURN ROUTINE FOR VECTOR AREA
6882 :204=1774
6883 011704 011637 002120 TRPALL: MOV (SP) ,$GDADR :SAVE PC OF TEST
6884 011710 104014 ERROR 14 :ILLEGAL VECTOR ADDR MEM ERROR
6885 011712 RTI *RETURN
eaa; -RESTORE VECTOR JUST TESTED TO ERROR SUBROUTINE FOR 0-202
6888 011714 022737 000001 002210 k55300= CMP c?.ssuv :CHECK FOR APT
6889 011722 001405 BEQ 1 :YES,BRANCH
6890 011724 012723 012122 MOV #TRP200, (R3)¢  :ERROR TRAP SUB. FOR 0-200
6891 011730 012713 000300 MOV #300, (RS) :PSW;VER:0
6892 011734 000404 B8R 28 *RETURN
gggz 011736 012723 011666 18: MOV #TRPOUT, (R3) ¢ :?Esagagp?rt SUB TRAP
6895 011742 012713 000300 MOV #300, (R3) *RESTORE PSW SAVE;VER:0
6896 011746 062737 000004 002452 2%: ADD #4,VECLOC :UPDATE FOR NEXT VECTOR
ggg; 0117564 000205 RTS RS *RETURN
6899 ;ROUTINE TO SET UP TRAP SUBROUTINE 0-200 IN STANDALONE MODE OR
238(1) :A COMMON ERROR VECTOR ROUTINE SETUP UNDER APT.
6902 011756 0100¢9 CAT200: MOV RO, =(SP) ;SAVE RO
6903 011760 017737 170154 002460 MOV aSWR, SWRSAV SSAVE LOCATION 176,SOFT SWR
6904 011766 022737 000001 002210 CMP #1,$ENV :CHECK FOR APT
6905 011774 001411 BEQ APT200 SYES,.SET UP TRAPS FOR APT
6906 011776 005000 CLR RO :START CATCHER SUB AT 0
6907 812000 01 753 012155 18: MOV #TRP200,(RO)+  :STORE VECTOR TRAP SUBROUT INE
6908 012006 0127 3 MOV #300, (RO) + :PSW; VER:
6909 012010 022700 000204 CMP #204.R0 :FINISHED 0-202
6910 012014 001371 BNE 1%
6911 012013 000410 BR END200 :RETURN IN STAND ALONE MODE
€915 01039 013790 011 Nei 00 STRPOUT,(RO)  VECTOR ERROR ROUTINE
: » 3
6914 015026 31 750 800333 MOV #300, (RO) :PSW NEXT:VER:0

— . — e <t e e e . _——
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000002

002124
00%126
002126

002436

PROGRAM SUBROUTINE

END200:

.INTER&UPI SERVICE ROUTINE USED TO VERIFY INTERRUPTS 0-200,BYTE COUNT 0-3
YTE COUNTS OF 1670 & VECTORS IN VECTOR ADDRESS MEMORY.

iursn INC

MOV BYNUM,SGDDAT  :STORE EXPECTED
MOV INTFLG,SBDDAT  :SAVE INT. COUNT
gg: ?gbb&l.‘ﬂobkl : INTERRUPTS SHOULD NOT EXCEED BYTE COUNT
JSR RS, FRMBUF ;RESTORE 0-202 BEFORE ERROR
ERROR 13 :MULTIPLE INTERRUPTS RECEIVED
:MORE INTERRUPTS THAN BYTE COUNT

JSR RS,CAT200 :RESTORE VECTOR SUBROUTINES

18: RTI sRETURN FROM INT.

COMMON ILLEGAL VECTOR ERROR RETURN ROUTINE FOR 0-200

TRP200: MOV (SP) ,$GDADR :SAVE PC OF TEST
JSR RS, FRMBUF *RETURN LOC 0-200
ERROR 14 +ILLEGAL VEC) 'R ADDR MEM ERROR
JSR RS,CAT200 *RESTORE VECTOR SUBROUTINES FOR PROCEED
RTI *RETURN

;VECTOR SERVICE ROUTINE FOR VECTOR UNIQUENESS TEST

SETVEC: MOV (RS)+,(R4)+ JSTORE VALUE IN BUFFER ;:GPA

§£rvsc MOV a(SP), (R4)+ : STORE VECTOR NUMBER IN BUFFER ::GPA
ST (SP)+ SRESTORE STACK FOR RTI
INC INTFLG :COUNT INTERRUPT
CMP #64., INTFLG
BGE 18 :64 EXPECTED INTERRUPTS?
ERROR 13 :ERROR ,MORE THAN 64 INTERRUPTS

18: RTI :RETURN FOR NEXT INTERRUPT

020‘ RO

(sp>o RO
gutsis (R3)

INTF

3
15-DEC-82 15:26 PAGE 59

sDONE?
:D0O NEXT VECTOR

;STORE PSW;VER:0
JEXIT

sCOUNT INTERRUPT

;STORE VECTOR ROUTINE

s INTERRUPT SERVICE OUtxucs THAT ARE STORED FROM 300-674
lN THE VECTOR UNIQUENESS TEST.

: RS POINTS TO "'SETVEC:'* DURING TESTS 5 AND g CALLS
* CHANGED FROM *‘JSR RS.SETVEC'' TO 'JSR PC, (n S" TO CONSERVE

SPACE AND REMAIN UNDER 4KW TOTAL PROGRAM §
iNTO: ~ JSR PC,(RS) ;STORE 300 INTO VBUF, ro BE

300 :CHECKED AFTER ALL INTERRUPTS.

INT1: 532 PC,(RS) ;VECTOR UNIQUENESS TEST, INT. SERV RIN
INT2: 5?3 PC,(RS) ;VECTOR UNIQUENESS TEST, INT. SERV RTN
INT3: f§2 PC,(RS) ;VECTOR UNIQUENESS TEST, INT. SERV RTN
INT&: ; 5 PC,(RS) ;VECTOR UNIQUENESS TEST, INT. SERV RTN
INTS: 32 PC,(RS) ;VECTOR UNIQUENESS TEST, INT. SERV RTN
INT6: ISR PC,(RS) ;VECTOR UNIQUENESS TEST, INT. SERV RIN

——— e ———— = ——

SEQ 0033
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PROGRAM SUBROUTIN

INT?7:

INTS:

INT9:

INT10:
INT11:
INT12:
INT13:
INT14:
INT1S:
INT16:
INT17:
INT18:
INT19:
INT20:
INT21:
INT22:
INT23:
INT24:
INT2S:
INT26:
INT27:
INT28:
INT29:
INT30:
INT31:
INT32:
INT33:
INT34:

330
R

PC. (RS)
PC. (RS)
SR PC.(RS)
PC.(RS)
SR PC, (RS)
PC. (RS)
SR PC. (RS)
PC.(R5)
SR PC,(RS)
PC.(RS5)
PC.,(RS)
PC.(RS)
PC, (RS)
PC.(RS)
PC.(R5)
PC, (RS)
PC, (RS}
PC.(RS)
PC, (R3)
PC,(RS)
PC.(RS)
PC.(RS)
PC.(RS)
PC,(RS)
PC,(RS)
PC,(RS)
PC,(RS5)
PC.(RS)

1 3
15:26 PAGE 59-1

;VECTOR UNIQUENESS
sVECTOR UNIQUENESS
;VECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
;VECTOR UNIQUENESS
;VECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
+VECTOR UNIQUENESS
;VECTOR UNIQUENESS
;VECTOR UNIQUENESS
sVECTOR UNIQUENESS
*VECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
:VECTOR UNIQUENESS
sVECTOR UNIQUENESS
;VECTOR UNIQUENESS
sVECTOR UNIQUENESS
;VECTOR UNIQUENESS
;VECTOR UNIQUENESS
;VECTOR UNIQUENESS
;VECTOR UNIQUENESS
;VECTOR UNIQUENESS

TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,
TEST,

INT.
INT.
INT,
INT,
INT,
INT,
INT,
INT,
INT,
INT,
INT.
INT.
INT.
INT.
INT,
INT,
INT.
INT.
INT.
INT.
INT.
INT.
INT.
INT,
INT,
INT,
INT,
INT,

SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RIN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RIN
SERV RTN
SERV RTN

::GPA
::GPA
::GPA
::GPA
::GPA
s sGPA
:sGPA
: :GPA
::GPA
: sGPA
: :GPA
s :GPA
:;GPA
:sGPA
::GPA
: sGPA
: :GPA
: :GPA
: :GPA
s :GPA
s :GPA
: :GPA
s :GPA
: :GPA
::GPA
::GPA
: :GPA
: :GPA

SEQ 0034
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7046 012446
7047 012450
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7049 012454
7050 012456
7051 012460
7052 012462
7053 012464
7054 012466
7055 O 673
7056 01247
7057 012474
7058 012476
7059 012500
706§ 815506
706 01%512
7064 01251
7065 015516
7066 01251
7067 0125
7068 012522
7069 012524
7070 012526
7071 0125
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PROGRAM SUBROUTINE
510

INT3S5: ?2 PC.(R5)

INT36: gs PC.(RS)

INT37: gsn PC.(RS)

4

INT38: ggs PC.(R5)

INT39: ggz PC,(RS5)

INT40: JSR PC,(RS5)
540

INT4: 22 PC.,(RS)

INT42: JSR PC.(RS5)
550

INT&3: JSR PC. (RS)
554

INT&4:  JSR PC.(RS)
560

INT45: JSR PC, (RS)
564

INT46: JSR PC.(RS)
570

INT47: JSR PC.(RS)
574

INT48: g 8 PC,(RS5)

INT49: JSR PC.(RS)
604

INT50: g?s PC,(RS)

INT51: JSR PC.(RS)
614

INTS2: JSR PC.(RS)
620

INT53: JSR PC.(RS)
624

INTS4: g 8 PC.(RS)

INTS5: ng PC.(RS)
)

INT56: JSR PC.(RS)
640

INT57: JSR PC.(RS)
644

INT58: JSR PC.(RS)
650

INTS59: g 2 PC.(R5)

INT60: JSR PC.(RS5)
660

INT61: JSR PC.(RS)
664

INT62: JSR PC,(RS)

J 3
: 15:26 PAGE 59-2

sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
;VECTOR UNIQUENESS
;VECTOR UNIQUENESS
sVECTOR UNIQUENESS
;VECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
;VECTOR UNIQUENESS
sVECTOR UNIQUENESS
;VECTOR UNIQUENESS
;VECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
;VECTOR UNIQUENESS
sVECTOR UNIQUENESS
;VECTOR UNIQUENESS
;VECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS
sVECTOR UNIQUENESS

TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT,
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT.
TEST, INT,
TEST, INT,
TEST, INT,
TEST, INT,
TEST, INT,

SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RIN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RTN
SERV RIN
SERV RTN
SERV RIN

: sGPA

SEQ 0035
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CNDRDA.P11  10-DEC-82 14:44 PROGRAM SUBROUT INE SEQ 0036
708¢ 012562 000670 670
7085 01%566 004715 INT63: JSR PC,(RS) ;VECTOR UNIQUENESS TEST, INT. SERV RTN ;;GPA
;839 012566 000674 674
;333 .SBTTL PATTERNS FOR REGISTER R/W
7090 :PATTERNS USED FOR LOADING/READING REGISTERS
7091 :ISR  INTERRUPT SERVICE REGISTER
7092 :IRR  INTERRUPT REQUEST REGISTER
7093 :IMR  INTERRUPT MASK  REGISTER
7395 012570 001 376 BGCHP3: .BYTE 1,376
7096 012572 002 grs .BYTE 2.375
7097 015574 004 73 BYTE  4.373
7098 012576 010 367 BYTE 10,367
7099 012600 020 357 .BYTE  20.357
7100 012602 040 337 \ BYTE 40,337
7101 012604 100 277 .BYTE 100,277
7102 012606 200 177 .BYTE  200.177
;}82 012610 000000 EDCHP3: 000000
7105
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CNDRDA.P11  10-DEC=82 14:44 SYSMAC ROUTINES SEQ 0037
;}8; JSBTTL SYSMAC ROUTINES
7}?? .SBTTL TYPE ROUTINE
(2) ° ttttt.ttt'tlttQ'Q.'Q.'it'i"'ttt.'lt'tt..t.ittti't"'t't.tttt.t.
%)) S*ROUTINE TO TYPE ASCIZ MESSAGE. MESSAGE MUST TERMINATE WITH A 0 BYTE.
) :«THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED.
(1) S *NOT El: $NULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER.
(1 T eNOTE2: $FILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED.
g}; ; *NOTES: $FILLC CONTAINS THE CHARACTER TO FILL AFTER.
(N 'CALL.
(1) --1) USING A TRAP INSTRUCTION
5}; b TYPE  ,MESADR ::MESADR IS FIRST ADDRESS OF AN ASCIZ STRING
Q
(1) e TYPE
(1) e ME SADR
i
(1) 012612 105737 002157 STYPE: TSTB  STPFLG 3:1S THERE A TERMINAL?
(1) 012616 100002 BPL 1 :BR IF YES
(1) 012620 000020 HALT ..HALT HERE IF NO TERMINAL
(1) 012622 000430 BR 3s : LEAVE
(1) 012624 010046 18: MOV RO, =(SP) SA E RO
(1 01 017600 000002 MOV a2(sP) RO ..GET ADDRESS or ASCIZ STRING
(1) 012632 122737 000001 002210 CMPB  #APTENV,SENV  ::RUNNING IN APT MODE
(1) 012640 001011 BNE 62% :3NO,GO CHECK FOR m consou
(1) 815648 132737 000100 002211 BITB  #APTSPOOL,SENVM ::SPOOL MESSAGE TO A
(1) 012650 001405 BEQ 62% $3ND,GO CHECK FOR CONSOLE
(1) 012652 010037 01266 MOV RO,61$ ::SETUP MESSAGE ADDRESS FOR APT
(1) 012656 004737 01310 JSR PC.SATY3 ::SPOOL MESSAGE TO APT
(1) 012662 oooogg 618: .WORD O : sMESSAGE ADDRESS
(1) 012664 132737 000040 002211 62$: BITB  #APTCSUP,SENVM ::APT CONSOLE SUPPRESSED
(1) 012672 001003 BNE 60% $3YES,SKIP TYPE OUT
(1) 012674 112042 2s: MOVB  (RO)+,=(SP) $3PUSH CHARACTER TO BE TYPED ONTO STACK
(1) 012676 00100 BNE 48 S:BR IF IT ISN'T THE TERMINATOR
(1) 0157 005726 ST (SP)+ ::IF TERMINATOR POP IT OFF THE STACK
(1) 012702 015600 608: MOV (SP)+,RO :SRESTORE RO
(1) 0127064 06 713 000002 38: ADD #2,(5P) $:ADJUST RETURN PC
(1) 012710 00000 RTI ::RETURN
(1) 012712 122716 000011 48: CMPB  #HT,(SP) $:BRANCH IF <HT>
(1) 012716 001430 BEQ 8s
(1) 0157 122716 000200 CMPB  #CRLF,(SP) ::BRANCH IF NOT <CRLF>
(1) 012724 001006 BNE 5%
(1) 012726 005726 ST (SP)+ ; :POP (CR)(LF) souxv
(1) 012730 104401 TYPE S:TYPE A CR AND
(1) 0127 oo§1gs SCRLF
(1) 01273 10 9 7 013070 CLRB  SCHARCNT ::CLEAR CHARACTER COUNT
(1) 012740 28 $3GET NEXT CHARACTER
) 015742 og¢737 333°§‘ 5%: JSR PC,STYPEC 2360 TYPE THIS CHARA TER
(1) 81 746 1 37;8 2156 68: CMPB FILLC,(SP)+  ::IS IT TIME FOR lLLER CHARS . ?
(1) 012752 001 BNE $ $:1F NO GO GET NEXT C
(1) 012754 013746 0021564 MOV L,=(SP) S:GET # OF FILLER CHAR s. "NEEDED
(1) S3AND THE NULL CHAR.
(1) 012760 105393 000001 78: DECB  1(SP) ::DOES A NULL NEED TO BE TYPED?
(1) 012764 0027 BLT 33 ::BR IF NO-=GO POP THE NULL OFF OF STACK
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CNDRDA.P11  10-DEC-82 14:44 TYPE ROUTINE SEQ 0038
012766 004737 013024 JSR PC,STYPEC ;360 TYPE A NULL
012772 105337 013070 DECB  $CHARCNT ::D0 NOT COUNT AS A COUNT
012776 000770 BR 7$ J:L00P

;HORIZONTAL TAB PROCESSOR

013000 112719 000040 8%: [ [0]:] (SP) :3REPLACE TAB WITH SPACE
013004 004737 013024 9s: JSR s LSTYPEC SSTYPE A SPACE
013010 132737 000007 013070 BIT8 "SCHARCNT ..BRANCH IF NOT AT
013016 001372 BNE TAB STOP
013020 005726 st (sP)o ::POP SPACE OFF STACK
013022 000724 BR 2% :2GET NEXT CHARACTER
013024 105777 167120 STYPEC: TSTB  @$TPS ::WAIT UNTIL PRINTER 1S READY
013030 100375 B8PL $TYPEC
013032 116677 000002 167112 MOVB  2(SP),as1PB ;:LOAD CHAR TO BE TYPED INTO DATA REG.
013040 122766 000015 000002 CMPB  #CR,2(SP) ::1S CHARACTER A CARRIAGE RETURN?
013046 001003 BNE 18 :BRANCH IF NO
013050 105037 013070 CLRB  SCHARCNT ..vss--CLEAa CHARACTER COUNT
013054 000406 BR $TYPEX SEXIT
013056 122766 000012 000002 18: CMPB  #LF,2(SP) 2IS CHARACTER A LINE FEED?
013064 00140 BEQ $TYPEX :3BRANCH IF YES
013066 105227 INBB  (PC)+ :3COUNT THE CHARACTER
013070 000000 $CHARCNT: .WORD 0 : :CHARACTER COUNT STORAGE
013072 000207 $TYPEX: RTS PC

.SBTTL APT COMMUNICATIONS ROUTINE

.tttit.ttttttti'iiit'ii"Q.itittittt.ttit.ttitt.it.ttt'i..i.tiﬁ

vvvvvvvvvvvvvvvw\-vvvvvvvvvvcvvvvvvvvvvvvvvvwvvvvvkuvvvv

~
P, P, P, P P, P P e, P, P, P, e, P, e, P, P, P, P, PN P, P P, P, P, P e, wmll B N N e P P P PN PN PN N PN P PN N PN P P N N N PPN PN PPN PN N

013076 112737 000001 013340 SATY1: MOVB  #1.SFFLG :TC REPORT FATAL ERROR
omog 112737 000001 013336 SATY3: MOVB  #1.$MFLG 2270 TYPE A MESSAGE
01311 ooot.o; BR SATYC
8};.}}5 112737 000001 013340 ’sﬂ;lc" MOVEB  #1,.$FFLG ::TO ONLY REPORT FATAL ERROR
013120 010046 MOV RO,=(SP) ::PUSH RO ON STACK
013122 010149 MOV R1.=(SP) $:PUSH R1 ON STACK
013158 105737 013336 ISTB  SMFLG ..SHOULD TYPE A MESSAGE?
0131 oousg BEQ 5$ ::1F NOT: BR
O}S% 12:12(7)31 000001 002210 8.,"? geneuv.seuv tlx;e mne”moen APT?
§1§1% 1 7%7 000100 002211 BITB  #APTSPOOL,SENVM ..suouw SPOOL MESSAGES?
o}glsz 8?;‘ > 353 Stcsp, "ée NgESSAgg ADDR
813156 3329?9, oooo% 000004 ADD ’?2 usi) i :BUMP RETURN ADDR.
131 737 0021 18: ST $MSGTYPE ;s SEE boue u/ LAST XMISSION?
8131 0 801375 sue 13 i IF
13172 010037 002204 RO, SMSGA

PU! ADDRIN m\uaox
13176 1057;0 2s: t618 | (RO)+ :;FIND END OF MESSAGE
1 0013 03 BNE 2%
13202 163700 002204 SUB $MSGAD. RO .-:sua START OF MESSAGE
R - B Masag S S v
13214 012 gr 8830« 002170 MOV #4.SMSGTYPE ZTELL APT TO TAKE MSG.
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000004

000002
177776
012612
013340
002210

002170

MACY11 30(1046)
AP

T COMMUNICATIONS ROUTINE

3s:

4%:
5%:
108:

118:

12%:

$MFLG:
$SLFLG:

$FFLG:

EVE
APTS12E=
APTENV=001
APTSPOOL=100
APTCSUP=040

5$
@4 (SP) 48

SENV
12%
SHSGTYPE

aA(sp) SFATAL
(SP)

8H§GTYPE

$FFLG

N 3
15-DEC=-82 15:26 PAGE 59-6

:;PUT MSG ADDR IN JSR LINKAGE
BUMP RETURN ADDRESS

; ;PUSH 199776 ON STACK

::CALL TYPE MACRO

..SHOULD REPORT FATAL ERROR?
:IF NOT: BR

..nuuuxue UNDER APT?
:IF NOT: BR

-;rxnxsnso LAST MESSAGE?
SIF NOT: WAIT

..GET ERROR #

BUMP RETURN ADDR.

s TELL Abi TO TAKE ERROR

..CLEAR FATAL FLAG

::CLEAR LOG FLAG

:3CLEAR MESSAGE FLAG

::POP STACK INTO R1

..POP STACK INTO RO
RE TURN

::MESSG. FLAG

;:FATAL FLAG

.SBTTL BINARY TO OCTAL (ASCII) AND TYPE

SRR AR RN AN AR AN AT TR AN TRTRRRARAANAAAARAAAARARRAAARRRRO AR

tTHlS ROUTINE IS USED TO CHANGE A 16-BIT BINARY NUMBER TO A 6-DIGIT

:*OCTAL (ASCII) NUMBER AND TYPE IT.

:*$TYPOS==-ENTER HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DIGITS TO TYPE‘
MoV

'CALL

A TR TA I A TATATATA T
LR O B N R

*CALL:

s *CALL:

* %

o * MoV
PON

;® MoV

NUM,=(SP)

NUM,=(SP)

NUM,=(SP)

::NUHBER TO BE TYPED
C L FOR TYPEOUT

3 70 FOR NUMBER OF DIGITS TO TYPE

..1=TVPE LEADING ZEROS
::0=SUPPRESS LEADING ZEROS

tSTVPON°-°-ENTER HERE TO TYPE OUT WITH THE SAME PARAMETERS AS THE LAST
:+$TYPOS OR $TYPOC

::NUHBER T0O BE TYPED

::CALL FOR TYPEOUT
'3TVPOC-°ENFER HERE FOR TYPEOUT OF A 16 BIT NUMBER
s :NUMBER TO BE TYPED

:sCALL FOR TYPEOUT

SEQ 0039
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A. ~DEC= NARY
CNDRDA.P11  10-DEC~82 14:44 BINARY TO OCTAL (ASCII) AND TYPE

(1) 013342 017649 000000 $TYPOS: MOV 3(SP),=(SP) ;:PICKUP THE MODE
(1) 013346 g 000001 013565 MOVB  1(SP),$OFILL  ;:LOAD ZERO FILL SWITCH
(1) 81 54 9 7 013567 MOVB  (SP)+,SOMODE+1 ;;NUMBER OF DIGITS TO TYPE
(1 01 830416 000002 ADD #2,(SP) :3ADJUST RETURN ADDRESS
(1) 013 BR $TYPON
(1 01 gge 112737 000001 01;565 $TYPOC: MOVB  #1,SOFILL ;:SET THE 2EO FILL SWITCH
(1) 013374 112737 000006 013567 MOVB  #6.SOMODE +1 ::SET FOR SIX(6) DIGITS
g}; 8}34? a} ;‘7 000005 013564 $TYPON: :333 gs.s?gg; ..ser rug ITERATION COUNT
(1) 01341 810442 MOV R&,=(SP) ,.snve R&
(1) 01g214 10546 MOV RS . =(SP) $SAVE RS
g}; 8}3413 aagzg: 013567 :gxs 32"00501 R4 ..GET THE NUMBER OF DIGITS TO TYPE
(1) 013424 %gg 000006 ADD #6,R4 ::SUBTRACT IT FOR MAX. ALLOWED
(1) 013430 110437 013562 MOVB  R&.SOMODE $:SAVE IT FOR USE
(1) 013434 1137064 01356 MOVB sofoL R $3GET THE 2ERO FILL SWITCH
(1) 013440 016605 000012 MOV i(SP) ‘RS +:PICKUP THE INPUT NUMBER
(1) 013444 005003 CLR +:CLEAR THE OUTPUT WORD
G fas e Ry Tale e D0 <
(1) 013452 006105 28: ROL RS $3FORM THIS DIGIT
(1) 013454 006105 ROL RS
() S136e8 010503 ROV R3.A3
(1) 013462 oog1g3 38: ROL R3 ::GET LSB OF rnxs DIGIT
g}; 8}329& }o 317 013566 gsfa ;gnoos ..;vvgrrzas DIGIT
(1) 8'?273 8%290% 177770 BIC #177770,R3 ..Ger nxo OF JUNK
(1) 013476 go BNE 4s TEST FOR 0
(1) 813500 005704 ST ..suppness THIS 0?
(1) 013502 001403 BEQ ss :BR IF YES
(1) 813504 805204 4$: INC Ré& $3DON'T SUPPRESS ANYMORE 0'S
(1) 0135 ssro BIS r-o n SSMAKE THIS DIGIT ASCII
(1) 013512 05 7g g 5$: BIS $3MAKE ASCII IF NOT ALREADY
(1) 013513 1103 1356 MOV8 ns és $3SAVE FOR TYPING
(1) 0135 1o¢4g1 81;562 TYPE 13 3360 TYPE THIS DIGIT
(1) m? wgi 13564 78: DECB hmt :COUNT BY 1
(1) 013532 003347 BGT 2 ..sn xr MORE TO DO
(1) 013534 g&oz BLT 63 :BR IF DONE
(1) 81;536 04 INC R4 ..xusuae LAST DIGIT ISN'T A BLANK
(1) 01 SAg 44 B8R $ ::60 oo THE LAST DIGIT
(1) 81354 12605 68: MOV (SP)+,RS : :RESTORE RS
(1) 013544 012604 MOV (SP)’.RA ..nesrone R&
(1) 013546 012603 MOV (SP)+.R3 *RESTORE R3
(1) 013550 012666 000002 000004 MOV 2(SP) .4 (SP) ;;sst THE STACK FOR RETURNING
f}; }3§56 35033 :?Y (SP)+. (5P) :RETURN
(1) 1§sg§ 8s: .BYTE ..sronnce FOR ASCII DIGIT
(1) 01356 .BYTE :TERMINATOR FOR TYPE ROUTINE
(1) 013564 000 SOCNT: .BYTE ::0CTAL DIGIT COUNTER
(1) 013565 0 SOFILL: .BYTE :ZERO FILL SWITCH
(1) 013566 $OMODE : .WORD *NUMBER OF DIGITS TO TYPE

7}}; "SBITL CONVERT BINARY TO DECIMAL’AND TYPE ROUTINE
(2) Q"Q'Q.t.Qt.'..""'Qt"."""".t!t"'..Q'QQ'.Q'.".QQ'Q!.QQ.
(1) cruxs ROUTINE IS USED TO CHANGE A 16=BIT BINARY NUMBER TO A S-DIGIT
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CNDRDA.P11 10-DEC-82 14:44 CONVERT BINARY TO DECIMAL AND TYPE ROUTINE SEQ 0041

(1) ;*SIGNED DECIMAL (ASCII) NUMBER AND TYPE IT. DEPENDING ON WHETHER THE
(1 :*NUMBER [S POSITIVE OR NEGATIVE A SPACE OR A MINUS SIGN WILL BE TYPED
(1) ;+BEFORE THE FIRST DIGIT OF THE NUMBER. LEADING ZEROS WILL ALWAYS BE
g}; :'§§ftACE° WITH SPACES.
A H
(1) e MOV NUM,=(SP) ::PUT THE BINARY NUMBER ON THE STACK
§}§ e TYPDS 2360 TO THE ROUTINE
(1) 013570 $TYPDS:
(3) 013570 010046 MOV RO,=(SP) ::PUSH RO ON STACK
(3) 013572 010146 MOV R1,=(SP) ::PUSH R1 ON STACK
(3) 013574 010246 MOV R2.=(SP) ::PUSH R2 ON STACK
(3) 013576 010346 MOV R3,=(SP) ::PUSH R3 ON STACK
(3) 013600 010546 MOV RS =(SP) ::PUSH RS ON STACK
(1) 013602 012746 020200 MOV #20200,=(SP)  ::SET BLANK SWITCH AND SIGN
(1) 013603 016605 000020 MOV 20(SP) .RS $:GET THE INPUT NUMBER
(1) 013612 100004 BPL ::BR IF INPUT IS POS.
(1) 013614 005405 NEG RS :SMAKE THE BINARY NUMBER POS.
(1) 013616 112766 000055 000001 MOVB  #°=,1(SP) $SMAKE THE ASCII NUMBER NEG.
(1) 013624 005000 1$: CLR RO +32ERO THE CONSTANTS INDEX
(1) 013626 mgros 014004 MOV #$DBLK ,R3 :3SETUP THE OUTPUT POINTER
(1) 013632 112723 000040 MOovB ' M .(RS)f 2:SET THE FIRST CHARACTER TO A BLANK
(1) 013636 005002 2s: CLR R2 $:CLEAR THE BCD NUMBER
(1) 013640 016001 013774 MOV SDT!%(RO).Rl $3GET THE CONSTANT
(1) 013644 160105 3%: SuB R1.R s2FORM THIS BCD DIGIT
(1) 013646 ooz&og BLT X $3BR IF DONE
(1) 013650 00520 INC R2 : SINCREASE THE BCD DIGIT BY 1
(1) 8‘?252 83877‘ B8R 3$
(1) 013654 105 48: ADD R1.RS ::ADD BACK THE CONSTANT
(1) 013656 005702 ST R2 ::CHECK IF BCD DIGIT=0
(1) 013660 001002 BNE 5% $SFALL THROUGH IF 0
(1) 013662 105716 1ST8  (SP) +:STILL DOING LEADING 0°S?
(1) 013664 100407 BMI 78 ::BR IF YES
(1) 013666 106316 5%: ASLB (SP) ::MSD?
(1) 013670 1osoo§ BCC 6% $:BR IF NO
(1) 013672 116663 000001 177777 MOVB  1(SP),=1(R3)  ::YES==SET THE SIGN
(1) 013700 052702 000060 9:: BIS #'0,R ::MAKE THE BCD DIGIT ASCII
(1) 013704 052702 000040 $: BIS ” R :3MAKE IT A SPACE IF NOT ALREADY A DIGIT
(1) 013710 11022 MOVB  R2,(R3)+ $:PUT THIS CHARACTER IN THE OUTPUT BUFFER
(1) 013712 805720 ST (rO)+ $3JUST INCREMENTING
(1) 013714 020027 000010 CMP RO,#10 $3CHECK THE TABLE INDEX
(1) 013720 00274 BLT ? ::60 DO THE NEXT DIGIT
(1 8137 2 00300 BGT % 3360 TO EXIT
(1) 013726 01050 MOV RS,R2 $3GET THE LSD
(1) 013726 0007 BR 6$ ::60 CHANGE TO ASCII
(1) o1§7 1057 8s: TSTB  (SP)+ ::WAS THE LSD THE FIRST NON=ZERO?
(1) 0137 10000 BPL Yh ::BR IF NO
(1) 013734 11286 177777 177776 MOVB  =1(SP),=2(R3)  ::YES==SET THE SIGN FOR TYPING
(1) 013742 105013 9s: CLRB  (R3) ::SET THE TERMINAT
(3) 01374 81 605 MOV (SP)+,R ::POP STACK INTO R
(3) 8'37 12603 MOV (SP)+ R $:POP STACK INTO R
(3) 013750 012602 MOV (SP)+.R ::POP STACK INTO R
(3) 013752 012601 MOV (SP)+.R “:POP STACK INTO R
B B N oo he G0 % HACIT
(1) 81 763 016666 gooooz 000004 MOV 2(SP),4(SP) $SADJUST THE STACK
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CNDRDA.P11  10-DEC-82 14:44 CONVERT BINARY TO DECIMAL AND TYPE ROUTINE SEQ 0042
(1) 013770 012616 MOV (SP)+,(SP)
(1) 013772 00000 RTI ;;RETURN TO USER
(1) 013774 02342 $DTBL: 10000.
(1) 013776 001750 1000.
(1) 014000 000144 100.
(1) 014002 000012 1o.
(1) 014006 000004 $DBLK 4
7}}? .sstrL eaaoa HANDLER ROUTINE
(2) ' ttit'ttl‘i.tttitt.i.'ii'.tit'tt'titi'ttti..tt.ittitltttttttt‘ttt
1 :*THIS ROUTINE WILL INCREMENT THE ERROR FLAG AND THE ERROR COUNT,
(1) :*SAVE THE ERROR ITEM nunaeu AND THE ADDRESS OF THE ERROR CALL
(1) :«AND GO TO SWRCK ON ERROR
(1) :«THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
(1) teSW15=1 HALT ON ERROR
(1) teSW13=1 INHIBIT ERROR TYPEOUTS
3k 'ggff“ LOOP ON ERROR
(& 1
ﬁ}g i ERROR N : sERROR=EMT AND N=ERROR ITEM NUMBER
(1) 014014 $ERROR:
(1) 014014 104407 CKSWR ::TEST FOR CHANGE IN SOFT=SWR
(2) 014016 104407 CKSWR ;GO LOOK FOR SWR CHANGE
(1) 014020 105237 002103 78: INCB  SERFLG ;:SET THE ERROR FLAG
(1) 014024 001775 BEQ 7% S:DON'T LET THE FLAG GO TO ZERO
(1) 014026 013777 002102 166106 MOV stsrnn aDISOLAY ::DISPLAY TEST NUMBER AND ERROR FLAG
(1) 014034 005237 002112 INC TTL :3INC THE ERROR COUNT
(1) 814040 ?119§7 883553 MOV ¢39) ssnnpc ::GET ADDRESS OF ERROR INSTRUCTION
(1) 014044 162737 002116 SUB
(1) 014052 117237 166040 002114 MOVB aséanpc xrena ;:STRIP AND SAVE THE ERROR ITEM CODE
(1) 014060 032777 020000 166052 BIT #BIT13,3SWR :3SKIP TYPEOUT IF SET
(1) 034066 001004 BNE zo ::SKIP TYPEOUTS
(1) 914070 004737 014170 JSR SWRCK ::GO TO USER ERROR ROUTINE
(1) 014074 104401 002165 TYPE .sénLr
(1) 014100 208:
(1) 014100 122737 000001 00210 CMPB  WAPTENV,SENV  ;:RUNNING IN APT MODE
(1) 014106 001007 BNE 28 $iNO,SKIP APT ERROR REPORT
(1) 014110 113737 002114 014122 MOVEB  SITEMB,21% $3SET ITEM NUMBER AS ERROR NUMBER
(1) 014116 004737 013112 JSR PC,SATYS : SREPORT FATAL ERROR TO APT
(1) 014155 000 218:  .BYTE
(1) 0141 oog .BYTE
(1) 014124 00077 52:: BR 28 ::APT ERROR LOOP
(1) 0141§g 005777 166006 $: ST aSWR :SHALT ON ERROR
(1) 014132 100002 BPL 38 $3SKIP IF CONTINUE
(1) 014136 000000 HALT :HALT ON ERROR'
(1) 014136 q«w CKSWR :3TEST FOR CHANGE IN SOFT=SWR
(1) 014140 032777 001000 165772 3$: BIT #BIT09,3SWR :3L00P ON ERROR SWITCH SET?
(1) 014146 001402 BEQ 4$ ::BR IF NO
(1) 014150 13719 885 MOV SLPERR, (SP) :3FUDGE RETURN FOR LOOPING
(1) 014154 00573 162 48: TS’ s;scapé :3CHECK FOR AN ESCAPE ADDRESS
(1) 014160 001402 BE) 5 :BR IF NONE
m 8}2}25 013716 002162 - MCV SESCAPE.(SP)  -:FUDGE RETURN ADDRESS FOR ESCAPE
(1) 014166 000002 %T1 : ;RETURN
71" ‘ﬁt.‘ttttttttt.tttit't!Qtt'tt't'tt'tttttiltittttttttttit.itti.t.
7115 *GO TYPE ERROR
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CNDRDA.P11 10-DEC~82 14:44 ERROR HANDLER ROUTINE SEQ 0043

7116 :GO UPDATE SOFTWARE SWR IF °*CNTRL/G'
7117 132333323233 333330332332333323233333 3333333333323 3233232332333233223232]
7118 014170 113737 002102 002432 SURCK: MOVB  STSTNM,TSTNUM  :SET UP TEST # ON ER
7119 014176 004737 014206 JSR PC,SERRTYP :GO TYPE ERROR
7120 014302 104407 cxsua ;GO LOOK FOR SWR CHANGE
7121 014204 000207 RTS PC RETURN TO ERROR HANDLER
7}3; .SBTTL ERROR MESSAGE TYPEOUT ROUTINE
(2) Qttttttt'tttiiQti"t"'t"'Qttt'tﬁﬁtttttﬁtttttt't"tttt.'t'!"'
M) S4THIS ROUTINE USES THE “ITEM CONTROL BYTE'* (SITEMB) TO DE TERMINE, WHICH
(N :*ERROR IS TO BE REPORTED. IT THEN OBTAINS, FROM THE '‘ERROR TABLE'' (SERRTB),
g}; :*AND REPORTS THE APPROPRIATE INFORMATION CONCERNING THE ERROR.
(1) 014206 $ERRTYP:
(1 014203 104401 002165 TYPE $CRLF ::"'CARRIAGE RETURN'' & "LINE FEED"
(1) 014212 010046 MOV RO,=(SP) ::SAVE RO
(1) 014214 005000 CLR RO ::PICKUP THE ITEM INDEX
(1) 014216 153700 002114 BISB  aNSITEMB,RO
(1) 014222 001004 BNE 1 ;:1F ITEM NUMBER IS zeao. JUST
(1) S:TYPE THE PC OF THE ERR
(2) 014224 013746 002116 MOV SERRPC,=(SP)  ::SAVE SERRPC FOR rvpsour
(2) ::ERROR ADDRESS
(2) 014230 104402 TYPOC ::60 TYPE==OCTAL ASCII(ALL DIGITS)
(1) 014232 000426 BR 6$ :GET OUT
(1) 014234 005300 18: DEC RO ::ADJUST THE INDEX SO THAT IT WILL
(1) 014236 006300 ASL RO ¥ WOeRKX FOR THE ERROR TABLE
(1) 014240 006300 ASL RO
(1) 814542 823;00 ASL RO
(1) 014244 00 002252 ADD #SERRTB, RO ;:FORM TABLE POINTER
(1) 014250 012037 014260 MOV (RO)+,28$ ::PICKUP "ERROR MESSAGE'* POINTER
(1) 014254 001404 BEQ 3s "mnmwummme
(1) 014256 104401 TYPE ::TYPE THE “ERROR MESSAG
(1) 014260 28: LWORD O ;3 ERROR MESSAGE' POINTER GOES WERE
(1) 014262 104401 002165 TYPE  ,SCRLF :3"'CARRIAGE RETURN'' & "LINE FEED"
(1) 014266 012037 014276 38: MOV (RO)+,48 :PICKUP ‘DATA HEADER'* POINTER
(1) 014272 001404 BEQ 58 $:SKIP TYPEOUT IF 0
(1) 014274 104401 TYPE ::TYPE THE 'DATA HEADER'
(1) 014276 000000 48: WORD O : 'DATA HEADER'' POINTER GOES HER
(1) 014300 104401 002165 TYPE  ,SCRLF ::"'CARRIAGE RETURN'' & "LINE FEED"
(1) 014304 011000 58: MOV (RO),RO $:PICKUP 'DATA TABLE'* POINTER
(1) 014306 001004 BNE 78 ::G0 TYPE THE DATA
;}; 014310 012600 68: MOV (SP)+,RO :SRESTORE RO
(1) 014312 104401 002165 TYPE  ,S$CRLF :3"'CARRIAGE RETURN'' & "LINE FEED'
(1) 014316 000207 RTS PC : SRETURN
(1) 014320 78:
(2) 014320 01304 MOV a(RO)¢+,=(SP)  ;:SAVE @(RO)+ FOR TYPEOUT
(2) 014§22 10440 TYPOC ..GO TYPE-=OCTAL ASCII(ALL DIGITS)
(1) 014324 00571 ST (RO) $1S THERE ANOTHER NUMBER?
(1) 014326 001770 BEQ '3 ::BR IF NO
(1) 014330 104401 014336 TYPE 2% ..rvpe TWO(2) SPACES
(1) 014334 000771 BR s :LOOP
(1) 014336 ozogzo 000 8s: ASCIZ 7/ 21TW0(2) SPACES
(1) 014342 -EVEN
7123 .SBTTL SCOPE MANDLER ROUTINESTARS
(N :«THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT

“— — — —————— —————— ———
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s*AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG.(DISPLAY<7:0>)

~
ot
A

(N :*AND LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08>
S :+THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
(N s eSW14=1 LOOP ON TEST
S B seSW11=1 INHIBIT ITERATIONS
S b ;+SW09=1 LOOP ON ERROR
S b ;*SW08=1 LOOP ON TEST IN SWR<7:0>
(1) ;s *CALL
ﬂ; o SCOPE ::SCOPE=10T
(1) 014342 $SCOPE :
(1) 014362 106407 CKSWR ;:TEST FOR CHANGE IN SOFT=SWR
(1) 014346 032777 040000 165566 1%: BIT #BIT14,3SWR ::LOOP ON PRESENT TEST?
(1) 014352 001114 BNE $OVER SYES IF SWié=1
(1) -##AANSTART OF CODE FOR THE XOR TESTER##N#N
(1) 014354 000416 $XTSTR: BR 6% ::1F RUNNING ON THE 'XOR'* TESTER CHANGE
(1N ::THIS INSTRUCTION TO A *NOP'' (NOP=240)
(1) 014356 013746 000004 MOV @FERRVEC,~(SP) ::SAVE THE CONTENTS OF THE ERROR VECTOR
(1) 014362 012737 014402 000004 MOV #5$ ,3#ERRVEC  ;;SET FOR TIMEOUT
(1) 014370 005737 177060 ST ar177060 ::TIME OUT ON XOR?
(1) 0143764 012637 000004 MOV (SP)+,3#ERRVEC ::RESTORE THE ERROR VECTOR
(1) 014400 000463 BR $SVLAD ::60 TO THE NEXT TEST
(1) 016402 022626 58: CMP (SP)+,(SP)+ ::CLEAR THE STACK AFTER A TIME OUT
(1) 014404 012637 000004 MOV (SP)+.3#ERRVEC ::RESTORE THE ERROR VECTOR
(1) 014410 000423 BR 7% +:LOOP ON THE PRESENT TEST
(1) 014412 6$:;#MRRNEND OF CODE FOR THE XOR' TESTERA####
(1) 014412 032777 000400 165520 BIT #BITO8,3SWR ::LO0P ON SPEC. TEST?
(1) 014432 142‘ BEQ 2$ ::BR IF NO
(1) 014422 127737 165512 002102 CMPB  @SWR,STSTNM $3ON THE RIGHT TEST?  SWR<7:0>
(1) 014430 001465 BEQ $OVER ::BR IF YES
(1) 014432 105737 002103 28: TSTB  SERFLG ::HAS AN ERROR OCCURRED?
(1) 014436 001421 BEQ 3s ::BR IF NO
(1) 014440 123737 002115 002103 CMPB  SERMAX,SERFLG  ::MAX. ERRORS FOR THIS TEST OCCURRED?
(1) 014446 101015 BHI 3s ::BR IF NO
(1) 014450 032777 001000 165462 BIT #81T09,3SWR ::LOOP ON ERROR?
(1) 014456 001404 BEQ It ::BR IF NO
(1) 014460 013737 002110 002106 7$: MOV SLPERR,SLPADR  ::SET LOOP ADDRESS TO LAST SCOPE
(1) 014466 000449 BR $OVER
(1) 014470 105037 002103 4$: CLRB  SERFLG ::2ERO THE ERROR FLAG
(1) 014474 005037 002160 CLR STIMES ::CLEAR THE NUMBER OF ITERATIONS TO MAKE
(1) 014500 000415 B8R 18 S:ESCAPE TO THE NEXT TEST
(1) 014502 032777 004000 165430 3$: BIT #BIT11,3SWR ::INHIBIT ITERATIONS?
(1) 014510 001011 BNE 1$ ::BR IF YES
(1) 014512 005737 002176 ST $PASS ::IF FIRST PASS OF PROGRAM
(1) 014516 001409 BEQ 1% 3 INHIBIT ITERATIONS
(1) 014520 00523 005104 INC SICNT +: INCREMENT ITERATION COUNT
(1) 014553 023737 002160 002104 CMP STIMES,SICNT  ::CHECK THE NUMBER OF ITERATIONS MADE
(1) 014532 002024 BGE SOVER ~ 3:BR IF MORE ITERATION REQUIRED
(1) 014534 012737 1 002104 1$: MOV #1,81CNT ::REINITIALIZE THE ITERATION COUNTER
(1) o:as&s 013737 014620 002160 MOV SMXCNT,STIMES  ::SET NUMBER OF ITERATIONS TO DO
(1) 01455 105;37 105 $SVLAD: INCB  STSTNM ::COUNT TEST NUMBERS
(1) 014554 113737 102 002174 MOVB  STSTNM.STESTN  ::SET TEST NUMBER IN APT MAILBOX
(1) 014562 8116 7 1 MOV (SP) ,$LPADR :;SAVE SCOPE LOOP ADDRESS
(1) 014592 11637 1 MOV (SP) ,SLPERR ::SAVE ERROR LOOP ADDRESS
(1) 014572 005037 00216 CLR $._ SCAPE ::CLEAR THE ESCAPE FROM ERROR ADDRESS
(1) 014576 112737 1 002115 MOVE  #1,SERMAX S:ONLY ALLOW ONE(1) ERROR ON NEXT TEST
T 0 PR i -~ = Ziarors W o D B 0 P P bt L AL R ol
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MOV STSTNM,QDISPLAY ;;DISPLAY TEST NUMBER

MOV SLPADR, (SP)
RTI

TTY INPUT ROUTINE

..rugge RETURN ADDRESS

iiMA NUHBER OF ITERATIONS

::i'itt.t'Q.'lt.t.'it.t..i'i"i'i.'tt..t.i..i'.."i..Q'tt"i.itti

.ENABL

LSB

A AAAALA A AR AR A AR AR AR AR AAARA AR AR AR AR AR AR AR ARl Al ldd])

'SOFYUARE SWITCH REGISTER CHANGE ROUTINE.

;*ROUTINE IS ENTERED FROM THE TRAP HANDLER, AND WILL

;*SERVICE THE TEST FOR CHANGE IN SOF TWARE SWITCH REGISTER TRAP CALL
:*WHEN OPERATING IN TTY FLAG MODE.

002140 $CKSWR:

000001

$GTSWR:

198:

7$:

208:

108:

165144
11%:

CMP #SWREG, SWR
BNE 15%
1ST8 3$TKS

BPL
MOV8 astxg -(SP)
BIC c'c1 ?.(5P)
CMP 7.(SP)+
BNE 1s£

CMPB $AUTOB,#1
15%

TYPE SCNTLG
L SMSWR
MOV SWREG, - (SP)

TYPE  ,SMNEW
CLR -(SP)
CLR -(SP)
:THE NEW SWR
?sta asTKS
BPL 78
MOVB asrx; -(SP)
BIC #°C177,(5P)

CMP (SP) ,#25
BNE 108
TYPE SCNTLUY

ADD #6,5P

BR 1

CMP (SP) .15
BNE 16%

TST 4(SP)

BEQ 118%

MOV 2(SP) ,a5uR
ADD #6,5P

::1S THE SOFT-SWR SELECTED?
..“mc" l m

..CHAR THERE ?

SIF NO, DON'T WAIT AROUND
$3SAVE THE CHAR

*STRIP=-OFF THE ASCII

:1S IT A CONTROL G?

*NO, RETURN TO USER

*ARE WE RUNNING IN AUTO=MODE?
:BRANCH IF YES

..ECHO THE CONTROL=G (“G)
sTYPE CURRENT CONTENTS

..SAVE SWREG FOR TYPEOUT
;260 TYPE--OCTAL ASCIICALL DIGITS)
: ;PROMPT FOR NEW SWR

::CLEAR COUNTER

..
.
L
-
.0
O.
.
O.
..

;:CHAR THERE?
221F NOT TRY AGAIN

$:PICK UP CHAR
ssMAKE IT 7-BIT ASCII

::1S IT A CONTROL=U?

:BRANCH IF NOT

i:YES, ECHO CONTROL=U (*U)
suéns PREVIOUS INPUT

..Ler S TRY IT AGAIN

218 IT A <CR>?

2 3BRANCH IF NO

..YES IS IT THE FIRST CHAR?
SBRANCH IF YES

..SAVE NEW SWR

J3CLEAR UP STACK

—— " —— ——— - . . ————

SEQ 0045
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(1) 015000 10&431 512 148:  TYPE SCRLF ;sECHO <CR> AND <LF>
(1) 015006 123727 002135 000001 CMPB t;nrnc.n1 : sRE-ENABLE rrv xao INTERRUPTS?
(1) 015012 00109; BNE 15 : :BRANCH IF NO
(1) 015016 012777 000100 165122 MOV #100,387kS ..ne ENABLE trv KBD INTERRUPTS
(1) 015022 oooog; 158:  RTI *RETURN
(1) 015026 004737 013024 168:  JSR PC,STYPEC ..tcuo CHAR
(1) 015030 021627 000050 CMP (sﬁ) 960 CHAR < 0?
(1) 015034 002420 BLT 188 ..BRANCH ;f YES
(1) 015036 021627 000067 CMP (SP) ,#67
(1) 015042 003015 BGT 188 ..aaAncn IF YES
(1) 015044 042726 000060 BIC #60, (SP) + $:STRIP=OFF ASCII
(1) 015050 005766 000002 ST 2(SP) 2315 THIS THE FIRST CHAR
(1) 01505¢ 001403 BEQ 178 :SBRANCH IF YES
(1) 015056 006316 ASL (SP) $iNO, SHIFT PRESENT
(1) 015060 006316 ASL (SP) i3 CHAR OVER TO MAKE
(1) 015062 006316 ASL (SP) ::  ROOM FOR NEW ONE.
(1) 015064 005266 000002 178:  INC 2(SP) : :KEEP COUNT OF CHAR
(1) 015070 056616 177776 BIS -%(sv).(srb :3SET IN NEW CHAR
(1) 015074 000707 BR 7 ::GET THE NEXT ONE
(1) 015076 104401 002164 188:  TYPE $QUES SSTYPE 2<CRO<LF>
(1) 015102 000720 BR 208 : :SIMULATE CONTROL=-U
o
(2) t"t.Qtt.'.ttt't"""t"'ttt'lttt.t'tttt'.Qt.tt't't'tt.tt!t"'
f}g 'Eﬁtf ROUTINE WILL INPUT A SINGLE CHARACTER FROM THE TTY
.t
(1) i RDCHR ::INPUT A SINGLE cmmcmn FROM THE TTY
(N ‘e RETURN HERE ::CHARACTER IS ON THE STA
f}; ‘e $:WITH PARITY BIT sranpreo orr
(1N
(1) 015106 011646 SRDCHR: MOV (SP) ,=~(SP) ::PUSH DOWN THE PC
(1) 015106 O1 000004 000002 MOV 4(SP),2(SP) ::SAVE THE PS
(1) 015114 105 165024 1$: 1ST8  asTks’ SIWAIT FOR
(1) 015120 100375 B8PL 1% $3A CHARACTER
(1) 0151§5 117766 195020 000004 MOVB astxa 4(SP) SSREAD THE TTY
(1) 015130 042766 177600 000004 BIC #°C<177>,4(SP)  ::GET RID OF JUNK IF ANY
(1) 015136 02 000004 000023 CMP 4(SP),#2% ::1S IT A CONTROL=S?
(1) 015144 00101 BNE g ::BRANCH IF NO
(1 015143 105777 164772 2s: 1sT8 astxs S:WAIT FOR A CHARACTER
(1) 01515 109;75 B8PL ::LOOP UNTIL ITS THERE
(1) 015156 117746 164766 MOV8 au,«s $3GET CHARACTER
(1) 015160 042716 177600 BIC 2ec17? SIMAKE IT 7-BIT ASCII
(1) 015164 022627 000021 CMP (SP)e, 321 ::1S IT A CONTROL=Q?
(1) 015170 001 BNE 2% ::1F NOT DISCARD IT
(1) 015172 0007 B8R 18 “3YES, RESUME
(1) 015174 02 000004 000140 38: CMP 4(SP),#140 ;318 17 UPPER CASE?
(M 815 2 002407 BLT 48 $:BRANCH IF YES
(1) 015204 026627 000004 000175 CMP 4(SP),#175 ::1S IT A SPECIAL CHAR?
(1) 015212 3 BGT 4 : iBRANCH IF YES
(1) 015214 eg 000040 000004 BIC #40,4(SP) :MAKE IT UPPER CAS
(1) 015222 oo%oo 4s: RT] +360 BACK TO USER
(2) t.OQ...Q.Q'.Q.QQ'.Q'"Q'QQ."Q'Q"Q..Q.QQQ..it.ttttittt'.tt..'t
m -wf ROUTINE WILL INPUT A STRING FROM THE TTY
"

— ———— e — . —— . — . i
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CNDRDA.P11  10-DEC=-82 14:44 TTY INPUT ROUTINE SEQ 0047
() e RDL IN ::INPUT A STRING FROM THE TTY
(1) ‘e RETURN HERE :SADDRESS OF FIRST CHARACTER WILL BE ON THE STACK
ﬂ} ‘e ::TERMINATOR WILL BE A BYTE OF ALL 0'S
(1) 015224 01034 SRDLIN: MOV R3,=(SP) : :SAVE R3
(1) 015 msro 015 35 1$: MOV #STTYIN,RS ::GET ADDRESS
(1) 015 022703 015 28: CMP #STTYIN#S.,R3  ::BUFFER FULL?
(1) 015236 101405 BLOS 48 $:BR IF YES
(1 01534.0 10441 RDCHR ::G0 READ ONE CHARACTER FROM THE TTY
(1) 015242 11561 MOVB  (SP)+,(R3) $3GET CHARACTER
() mss«. 122713 000177 08: CMPB  #177,(R3) :31S IT A RUBOUT
(1) 015250 001003 BNE 3$ ::SKIP IF NOT
(1) 015252 104401 002164 4$: TYPE $QLES ::TYPE A *2°
(1) 015256 000763 BR is ::CLEAR THE BUFFER AND LOOP
(1) 015260 111337 015330 3s: MOVB  (R3),9% ::ECHO THE CHARACTER
(1) 015264 104401 015330 TYPE .98
(1) 015270 122723 000015 CMPB  #15,(R3)+ ;:CHECK FOR RETURN
(1) 0152764 0013 g BNE 2 ::LOOP IF NOT RETURN
(1) 015276 105063 177777 CLRB  =1(R3) S:CLEAR RETURN (THE 15)
(1) 015302 104401 002166 TYPE  ,SLF ::TYPE A LINE FEED
(1) 015306 012603 MOV (SP)+.R3 :SRESTORE R3
(1) 015310 011646 MOV (SP) ,=(SP) ::ADJUST THE STACK AND PUT ADDRESS OF THE
(1) 015312 olgou ooogo‘ 000002 MOV 4(sP) . 2(sP) i FIRST ASCI! CHARACTER ON IT
(1) 015320 01 763 015332 000004 MOV #STTYIN,&(5P)
(1) 015326 00000 RTI : sRETURN
(1) 0153 000 98: BYTE 0 ::STORAGE FOR ASCII CHMAR. TO TYPE
H! o;gm 0(1’3 STTYIN 'SHE “.'.522.‘.':2'“ YTES FOR TTY INPUT
(1 315%& 823236 005015 $CNTLU: .ASCIZ /‘w<15><1§> : 3 CONTROL ’u"
(1) 015347 1 SO7 000012 SCNTLG: .ASCIZ /*G/<15><12> ::CONTROL 'G"’
(1) 015354 005015 053523 020122 SMSWR: .ASCIZ <15><12>/SWR = /
(1) otssog 020075 goo
(1) 01536 040 047040 053505 SMNEW: .ASCIZ / NEW = /
(1) 015372 036440 000040
n(g; .SBTTL POWER DOWN AND UP ROUTINES
(2) .' shefttttRttttttttt Rttt RRRRRORRORORRARRRARARRECRERARCRRCARRORRGCRARTOERRSGESE
%)) :POWER DOWN ROUTINE
(1) 015376 012737 015542 000024 S$PWRDN: MOV #SILLUP,3#PURVEC ;:SET FOR FAST UP
(1) 015404 012737 000300 000026 MOV #PR6 ., J#PURVEC+2 ;:PRIO:6
(g) 015412 01 MOV RO,=(SP) ::PUSH RO ON STACK
(3) 015414 010146 MOV R1,=(SP) $:PUSH R1 ON STACK
(3) 01“53 010246 MOV 'i"(s" $:PUSH R2 ON STACK
(3) 015620 010 MOV R3,=(SP) $:PUSH RS ON STACK
(3) 015422 010446 MOV R&.=(SP) $:PUSH R4 ON STACK
(3) 015424 010546 MOV RS.=(SP) ::PUSH RS ON STACK
(3) 015426 01 7:.9 164506 MOV aSUR, = (SP) ::PUSH @SWR ON STACK
(1) 015432 01 g 01554 MOV SP,$SAVRG ::SAVE SP
(1) 015436 012737 015450 000024 MOV #SPURUP,#PWURVEC ::SET UP VECTOR
(1) 015444 oooogo HALT
SB 015446 000776 BR =2 : sHANG UP
(2) .".t.QQ.Q't.'.'...l"""'."..Q.O'Q"Q.t..'O...l.t...!.'.'.!!...
(1) :POWER UP ROUT INE
(1) 015450 012737 815542 000026 $PWRUP: MOV #SILLUP,3#PWRVEC ;:;SET FOR FAST DOWN
(1) 015456 0137206 015546 MOV $SAVRG, §P ;:GET SP
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POWER DOWN AND UP RCUTINES
CLR $SAVRG ::WAIT LOOP FOR THE TTY
1%: INC $SAVRG ::WAIT FOR THE INC
BNE 18 ::0F WORD
MOV (SP)+, gua ::POP S1ACK INTO aSWR
MOV (SP)+.R ::POP STACK INTO RS
MOV (SP)+.R& ::POP STACK INTO Ré
MOV (SP)+.R3 ::POP STACK INTO R3
MOV (SP)+ R2 ::POP STACK INTO R2
MOV (SP)+.R1 ::POP STACK INTO R1
MOV (SP)+.RO ::POP STACK INTO RO
000024 MOV #$PWURON awpwnvsc +:SET UP THE POWER DOWN VECTOR
000026 MOV #PR6,FPURVEC+2 ::PRIO:6
TYPE : :REPORT THE POWER FAILURE
SPWRMG: .WORD PWRMSG ::POWER FAIL MESSAGE POINTER
MOV (PC)+, (SP) S SRESTART AT START1
$SPWRAD : ﬁ??"D START : RESTART ADDRESS
SILLUP: HALT ::THE POWER UP SEQUENCE WAS STARTED
BR =2 :: BEFORE THE POWER DOWN WAS COMPLETE
$SAVRG: 0 ::PUT THE SP HERE
835}52 PWRMSG: .ASCIZ <15><12>/RESTARTED FROM PWR FAIL/
050040
044501
.EVEN
.SBTTL TRAP DECODER
::tltt.lt.tt..t.lQQ."Q".'QtQtQQ."..t.tttﬁtttttt.t..tﬁttt.'tttt
**THIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE "‘TRAP'' INSTRUCTION
“«AND USE IT TO INDEX THROUGH THE TRAP TABLE FOR THE STARTING ADDRESS
:*0F THE DESIRED ROUTINE. THEN USING THE ADDRESS OBTAINED IT WILL
:+GO TO THAT ROUTINE.
$TRAP: MOV RO,=(SP) ::SAVE RO
MOV 2($P).RO ::GET TRAP ADDRESS
ST =(RO) : :BACKUP BY 2
MOVE  (RO),RO ::GET RIGHT BYTE OF TRAP
ASL RO ::POSITION FOR INDEXING
MOV $TRPAD(RO) ,RO  ;;INDEX TO TASLE
RTS RO ::60 TO ROUTINE
::THIS IS USE TO HANDLE THE “‘GETPRI'* MACRO
$TRAP2: MOV (SP),=(SP) ::MOVE THE PC DOWN
000002 MOV 4(SP),2(SP) ::MOVE THE PSW DOWN
RTI ::RESTORE THE PSW

.SBTTL TRAP TABLE

s*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
s*BY THE "‘TRAP'" INSTRUCTION.

: ROUT INE

SEQ 0048
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TRAP TABLE

'CNDRDA.P11 ~ 10-DEC~82 14:44 SEQ 0049
L (3 015636 015624 $TRPAD: ,WORD $TRAP2
() 015640 012612 $TYPE  ;:CALL=TYPE TRAP+1(104401) TTY TYPEOUT FOUTINE
L (%) 015642 01 $TYPOC ::CALL=TYPOC  TRAP+ (10440;) TYPE OCTAL NUMBER (WITH LEADING ZEROS)
(3) 015644 01 $TYPOS ::CALL=TYPOS  TRAP+3(104403) TYPE OCTAL NUMIER (NO LEADING ZEROS)
(%) 015646 01340 STYPON ::CALL=TYPON  TRAP+4(104404) TYPE OCTAL NUMBER (AS PER LAST CALL)
| 2;; 015650 013570 $TYPDS ::CALL=TYPDS  TRAP+5(104405) TYPE DECIMAL NUMBEK WIT', SIGN)
I 2;; 015652 014672 $GTSWR ::CALL=GTSWR - TRAP+6(104406) GET SOFT=SWR SETTING
(3) 015654 014622 $CKSWR ;:CALL=CKSWR  TRAP+7(104407) TEST FOR CHANGE IN SOF T=SWR
(3) 015656 015104 SRDCHR ::CALL=RDCHR  TRAP+10(104410) TTY TYPEIN CHARACTER ROUTINE
7;3; 015660 015224 SRDLIN ::CALL=ROLIN  TRAP+11(104411) TTY TYPEIN STRING ROUTINE
7130 .SBTTL ASCII MESSAGES
7131 :2GPA TITLED: .ASCIZ <15><12>/CNDRDA DRV11J DIAG TEST PART 2/<15><12>
7132 015662 041600 042116 045152 TITLED: .ASCIZ <200>/CNDRDA DRV11J DIAG TEST PART 2/<200> : :GPA
015670 020101 042040 053122
015676 030461 020112 044504
015706 043501 052040 051505
015712 020124 040520 052122
015720 031040 000200
7133 ; sGPA TLCABL: LASCIZ <15><12>/DRV11J CABLE REQ'D/<15><12>
7134 015754 2200 osstzg 030461 TLCABL: .ASCIZ <200>/DRV11J CABLE REQ'D/<200> ::GPA
015732 020112 040503 046102
015740 020105 042522 023521
-, 015746 100104 000
7136 015751 12 505 052040 EM1: LASCIZ /REG TIMEOUT ER/
315756 04 s1¥ 82;505 855122
015764 04 sag ooorz;
7137 015770 0425 20107 042522 EM2:  .ASCIZ °'REG READ/WRITE ER®
015776 042101 053457 0445
016006 042526 04244 oogl
7138 01605% 051111 020122 042522 EM3: LASCIZ /IRR REG ER/
016020 020107 05110 000
7139 016025 101 051103 051040 EM4:  .ASCIZ /ACR REG ER/
8160 043505 04244 1
7140 016040 046511 02012 522 EMS: LASCIZ /IMR REG ER/
owol.g 020107 sng
7141 01605 111 051123 051040 EM6:  .ASCIZ /ISR REG ER/
16060 823505 440 12
7162 01 3111 514 mgso EM7: LASCIZ /ILLEGAL VECTOR MEM ADDR ER/
016091 020114 528 82 10
016102 051117 04644 650
016110 o¢0442 042106 020122
816116 05110
7143 016121 1 g 4510 853120 EM10:  .ASCIZ /CHIP STAT ER/
fistse gagigg oo whedo
7144 +:GPA EM11: LASCIZ /ILLEGAL INTERRUPT RECEIVED/
7145 016136 m ;516 507 EM11: .ASCIZ 7ILLEGAL INTERRUPT REC'D/ : :GPA
16144 114 m 5§24
16125 1 sglgs 124
7146 }2} ;? ¢ 2 2 1} 2 EM2 ASCIZ /INTERRUPT TEST ERROR/
16192 50125 2515‘ 2524
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SERRPC,TSTNUM,$SBDADR,VECVAL ,VECLOC ,$GDDAT ,$BDDAT 0
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